



Home to the Spring Session of the Raleigh Dart League for week #2, Wednesday, January 31, 2018 Issue #JK706 The "Sometimes Nice Guys Finish First... But Sometimes They Finish In The Penalty Column" Edition

A PAINFUL REMINDER... WITH AWESOMENESS

Ok, everybody, today's top item is a reminder that you need to make sure you check your stuff. All your stuff. Not just the captain's phone number on the schedule and the final score at the end of the night. I had to dole out a penalty this week that caused me pain, primarily because of how awesome the people involved handled it after the fact. Pat's Blue Ribbon took an ineligible player penalty this week, and lost all their points and statistics from the match. And it was just a compilation of little not-quite-checked stuff with no malicious intent by anyone. But it's a penalty just the same. -- Before the season. Jeff Cashin (captain of Pat's Blue) asked Erin Hartmann (captain of another team out of their same home establishment) to register his team "with the same lineup as last season". She was very nice and agreed. The problem was that Hartmann had the preseason captains' meeting lineup for Pat's Blue, but not any lineup after week 1 (Pat's Blue actually added a tenth player for week 1, and he was now missing from this season's roster). Then, when the rosters were sent out, Cashin didn't think to check the names on theirs because it was a simple "same". So they played... and then realized the error. And here is where the awesomeness comes in... The first email that I/the Board received was from Cashin, explaining their error before the penalty was even officially assessed. He wrote to apologize and to find out what steps/timing were convenient for fixing it for week 2. What did Cashin NOT do? He didn't even mention that another person could be in any way at fault at all, and took complete responsibility on himself. Seriously? How many of this season's teams could resist at least trying to slough off some of the blame, in an attempt to weasel back some points? 70%? 80%? 90%? Not Cashin, not a single word about it. So how did we find out about Hartmann registering the team one short? Because she emailed us too, with a lengthy apology and taking full blame for the situation as well! She told us exactly what went down and exactly why she felt so awful. No "well, they should've checked their own stuff" or "I was doing them the favor, not vice versa" in her message. Just another attempt to take full blame. In the end, a team got penalized and lost some points. But a lesson was learned by two groups... the teams involved learned that they need to super-double-check stuff... and the rest of the teams in the league learned which two teams are definitely on the "take-responsibility" and "can-be-trusted-not-to-point-fingers-and-whine" lists. Two lists that probably aren't all that crowded on some nights, I'm sad to say.

WHICH BRINGS US TO ...

... an important reminder to everyone: do NOT just take your preseason captains' meeting roster as the final roster for ANY more matches starting right now. It's a great resource for contact information and stuff, but rosters change on a weekly basis all the way up to week 6. The number of times I get messages from teams saying "well, I put their other guy on the list as #38... no idea who he is and I've never heard of him, but I guess you'll know if he's legal." Oh, you mean player #38 who has been on their team's roster for the last three issues of the Tons? That guy?

A FEW MORE IMPORTANT REMINDERS

== Any throw in 501 or 1001 is never going to be a "High In".
High Ins are for 301 only, as only 301 has a double-in requirement.
== ASPs in 1001 do NOT count. But you may use an added game in the Total Games Played column on the back of the sheet to help indicate who participated in 1001, if you would like to do so.
== Losing teams are NOT required to send in their scoresheets.
I do recommend they keep a copy in case the other team's is lost.

AND A BIG '01 REMINDER...

As stated in the item immediately above, High Ins are only from 301 games. And please do not forget that <u>"High Ins" only count on</u> your first turn at the line in a game of 301. This means that a 160 to start scoring on your fifth turn is really quite impressive, but is NOT a High In. Please do NOT call in throws like that as "High Ins". It would be awful if an award went to the wrong person because you were ignorant of the rules. So don't be.

Please see additional items elsewhere in the Tons: pages 7/8 - schedules, page 6 - reminders, page 9 - contact info, etc.

WE MADE IT EXACTLY ZERO WEEKS...

... before "BLOCKER" made his first appearance as a player, with no description as to who it was (and no Total Games Played from which I could deduce it). Aw, dangit. Info-chasing time... And I'm *definitely* calling out the offender: the One Armed Bandits in C division! (Note to Big Bulls: don't laugh too hard here... the fact that it was incomplete on their sheet immediately calls you out as a team that doesn't check the opponents' sheet). Maybe I'll hit up Britt and the Rules Committee to see if we need a penalty for this stuff... maybe that would help to end these...

RDL HEADLINES

- "A" Division: Oh, A division is deeeeep this season... the top three teams stayed static, while the other five bulked up! Going to be big fun here... two upsets already in the books... or maybe they're not upsets, but rather just a new order?
- "B" Division: Diddle Diddle sneaks by Kiss My in what was likely a big matchup; Thursday's races out to the early B lead
- "C" Division: C starts as 1 of 2 divisions with no team above 14 points in wk01; Big Bulls were shorthanded? No way, right?
- "D" Division: Inglourious drops a shorthanded bomb on the Cheapies; Projectile sweeps 501/1001 to reel in the Humpers
- "E" Division: Wow, closest division after week 1; only Game ever seemed to be even a little in control of a week 1 match
- "F" Division: Coaching comes back from an 11-5 hole to stun Serious?; Scorekeeper thumps Walking in cricket for big win
- "G" Division: The drought is over for the Ducks!; Irish Ton and I'm About each ride 501 sweeps to victory in even battles
- "H" Division: Some thumpings in H, as 4 of the 6 doubles sets in the week were 6-0 sweeps; Chalk wins the only close pair

Name the band/singer? the song? Do you know the theme? This is one of the most popular items, so obviously it's back for a 15th season... Week 2, song #1 lyric: "I could stay awake just to hear you breathing, Watch you smile while you are sleeping" Week 2, song #2 lyric: "Cause we're young and we're reckless, We'll take this way too far, It'll leave you breathless, Or with a nasty scar" Week 2, song #3 lyric: "So, so you think you can tell, Heaven from hell, Blue skies from pain, Can you tell a green field, from a cold steel rail?"

	DIVISIONAL TEAM STANDINGS and MATCH RESULTS FROM WEEK 1 (1/24/18) (Home team listed second in each match.) Short-														
			W	L	<u>Pts.</u>	(Home) Teams			nd in each <u>SCkt</u> I			1001	<u>ASPs</u>	Short- handed?	Penalties
	1	Appetite for Destruction	1	0	22	Element	17	5	4	6	2	-	31.0	-	-
21	2	Element XXX	1	0	17	Dartistic	7	1	2	0	4	-	14.5	-	-
"A" Division	3	Darty Minds	1	0 0	16 12	Alliance	2	1	1	0	0	-	22.5 29.5	-	-
Div	4 5	Monkey Business Triple D Bronze Balls	1	1	12	Appetite Triple D	22 12	5	5 3	6 2	6	- L	29.5	-	
	6	Lunatic Fringe	0	1	8	Monkeys	12	3	3	4	2	W	25.0	-	-
- 1	7	Dartistic Pursuits	0	1	7	Darty Minds	16	4	4	4	4	-	22.0	-	-
	8	North Raleigh Alliance	0	1	2	Fringe	8	2	2	2	2	-	16.5	-	-
	1	Thursday's Still Suck	1	0	17	Diddle Diddle	13	4	3	2	4	-	9.5	-	-
ion	2 3	Traveling Beer Bellies Diddle Diddle	1	0 0	16 13	Kiss My Beer Bellies	11 16	$\frac{2}{4}$	3 4	4 2	2 6	-	15.0 11.5	-	-
"B" Division	4	Nine Lives	0	0	0	Menace	8	4	4	2 4	0	-	11.5	-	-
2T	5	Kiss My	0	1	11	McGavin	7	2	1	2	2	-	7.5	-	-
<u>.</u>	6	Menace 2 Sobriety	0	1	8	Thursday's	17	4	5	4	4	-	12.0	-	-
	7	Shooter McGavin	0	1	7	Nine Lives	-		(BY	E)		-	-	-	-
	1	Rif Raf	1	0	14	Pat's Blue	10	5	3	0	2	-	12.0	-	inel. player
ion	2	One Armed Bandits	1	0	13	Rif Raf	14	1	3	6	4	-	10.0	-	-
ivis	4	DD 214 The Bunkers	1	0 0	13 0	DD 214 Trippin'	13 11	2 4	3 3	4 2	4 2	-	17.5 14.0	-	-
"C" Division	5	We Be Trippin'	0	1	11	Big Bulls	8	2	2	3	1	_	5.5	Yes	-
<u>.</u>	6	Big Bulls	0	1	8	Bandits	13	3	4	2	4	-	11.0	-	-
	7	Pat's Blue Ribbon	0	1	0	Bunkers	-		(BY	E)		-	-	-	-
	1	Inglourious Darters	1	0	20	Cork	13	4	3	4	2	-	9.0	-	-
uo	2	Stick a Cork In It!	1	0	13	WINNAU	11	2	3	2	4	-	8.5	-	-
"D" Division	3	Projectile Dysfunction Garage Inc.	1 0	0 0	12 0	Cheap Shots Inglourious	1	1 5	0 5	0 5	0 5	-	5.0 17.0	Yes	-
<u>n</u>	4 5	Hump Day!	0	1	12	Projectile	20 12	3	3	0	6	W	12.0	-	-
<u>a</u>		WINNAU	0	1	11	Hump Day!	12	3	3	6	0	L	19.5	-	-
	7	Cheap Shots	0	1	1	Garage	-		(BY	E)		-	-	-	-
	1	Game of Throws	1	0	14	Rangers	11	2	3	4	2	-	10.5	-	-
vision	2	Coral Reefers	1	0	13	Reefers	13	4	3	2	4	-	10.5	Yes	-
	3 4	Sharky's Machine Double In, Stumble Out	1 0	0 0	12 0	Machine Shark Shooters	12 12	4 2	2 4	2 4	4 2	W L	13.5 11.5	-	-
"E" Di	5	Shark Shooters	0	1	12	Game	12	4	4	4	2	-	7.5	-	-
E	6	Red-eye Rangers	0	1	11	Death Throw	10	2	2	2	4	-	7.5	Yes	-
	7	Death Throw	0	1	10	Stumble Out	-		(BY	E)		-	-	-	-
	1	Don't Hit The Scorekeeper	1	0	16	Serious?	11	3	6	2	0	-	5.5	-	-
no	2	Show Me Your Tips	1	0	15	Coaching	13	3	0	4	6	-	8.0	-	-
ivisi	3 4	Philthy Coaching Sofa Kings	1 0	0 0	13 0	Walking Scorekeeper	8 16	4	2 4	0	2 4	-	5.5 18.0	-	-
"F" Division	4 5	Why So Serious?	0	1	11	Bulls Up	8	$\frac{2}{2}$	4	6 2	4	-	11.0	-	-
Η.,	6	Bulls Up	0	1	8	Show Me	15	4	2	4	5	-	13.5	Yes	-
		Walking That Wire	0	1	8	Sofa Kings	-		(BY	E)		-	-	-	-
	1	I'm about to Ton!	1	0	15	De Ducks	13	3	4	4	2	-	3.0	-	-
uo	2	Irish Ton	1	0	13	Nightmare	11	3	2	2	4	-	5.0	-	-
ivisi	4	De Ducks Part Deux	1	0	13	Just A Bit	10	4	2	4	0	-	6.0	- in 201 anh:	-
"G" Division	4 5	Wayne Gretzky Chalker's Nightmare	0 0	0 1	0 11	Irish Ton Old Darting	<u>13</u> 9	$\frac{1}{2}$	4 3	2 4	6 0	-	6.0 14.0	in 301 only	
Ð	6	Just A Bit Outside	0	1	10	I'm about	15	4	3	2	6	-	9.5	-	-
	7	Old Darting Bastards	0	1	9	Gretzky	-		(BY	E)		-	-	-	-
	1	Brown's Bombers	1	0	20	All About	17	3	4	6	4	-	12.5	-	-
no	2	All About That Bull!	1	0	17	Buddies	7	3	2	0	2	-	8.0	-	-
visi	3	Chalk It Up	1	0	13	Bombers	20	3	5	6	6	-	3.5	-	-
"H" Division	4 5	Eazy Duzit Tips & Shafts	0 0	0 1	0 11	Ballistic Chalk It Up	4	3	1 3	$\frac{0}{2}$	0 6	-	4.5	-	
Η.,	6	Dart Buddies	0	1	7	Tips & Shafts	11	4	3	4	0	-	4.5	-	-
	7	Ballistic Behavior	0	1	4	Eazy Duzit	-		(BY	E)		-	-	-	-

· · · · · · · · · · · · · · · · · · ·	'HOT DARTS"] I	Dean, Jay	Traveling Beer Bell	4.5	ASPs	Can't remo	nber what to call in f	or the	
Player Name	Team Name	Hot Darts	Klann, Eric	Kiss My	4.5	ASPS		here? Check out pa		
rlayer Name	"A" Division	Hot Darts	,	-		ASPS			0	
Johnson Miskeyl			Phillips, Julie	Kiss My			list of minim	ums is there EVERY	week	
Johnson, Michael	Appetite for Destruction		Schmaus, Darren	Kiss My	4.0	ASPs	Taulan Eria	Charls Chasters	25	
Cusher, Dean	Appetite for Destruction			"C" Division			Taylor, Eric	Shark Shooters	3.5	ASPs
McNamara, Tim	Monkey Business	120-In	Klein, Norm	DD 214		8m	Allison, Frank	Sharky's Machine	3.0	ASPs
Bakowski, Adam	Lunatic Fringe	103-In	Collins, Craig	We Be Trippin'		ASPs	Britt, Jake	Coral Reefers	3.0	ASPs
Cusher, Dean	11	10-dart 301	Murphy, Phil	One Armed Bandits		ASPs		"F" Division		
Healy, Simon		12-dart 301	Wilson, Chris	We Be Trippin'		ASPs	Vick, Justin	Don't Hit the Scoreke	1	9m
Brown, Tom	Element XXX 21	-dart SCkt	McWhorter, Mike	Big Bulls		ASPs	Bushman, Brad	Show Me Your Tips		
Kramer, John &			Fournier, Jeff	DD 214		ASPs	Raquet, Mike	Show Me Your Tip:		ASPs
Tan, Wil		24-dart 501	Jur, Jess	Rif Raf		ASPs	Robertson, Chris	Don't Hit the Scorel	4.0	ASPs
Brown, Tom	Element XXX	7.5 ASPs	Preciado, Amanda	DD 214	3.5	ASPs	Bushman, Brad	Show Me Your Tip:	3.5	ASPs
Phillips, Robbie	Element XXX	7.5 ASPs		"D" Division			Knight, Romuald	Don't Hit the Scorel		ASPs
Cusher, Dean	Appetite for Destruc	6.5 ASPs	Grubb, Ed	Stick a Cork In It!	15-da	rt 301	Powell, Lee	Show Me Your Tip:	3.5	ASPs
Beaudoin, Paul	Dartistic Pursuits	6.0 ASPs	Deemer, Randy	Hump Day!	8.0	ASPs	Adams, Doug	Don't Hit the Scorel	3.0	ASPs
Mitchell, Sid	Appetite for Destruc	6.0 ASPs	Balint, Joey	Inglourious Darters	5.5	ASPs	Butterworth, Jim	Bulls Up	3.0	ASPs
Bunn, Tim	Monkey Business	5.5 ASPs	Ferguson, Travis	Hump Day!	5.5	ASPs	Vick, Justin	Don't Hit the Scorel	3.0	ASPs
Elder, Craig	Appetite for Destruc	5.5 ASPs	Gardner, Kenn	Inglourious Darters	4.0	ASPs		"G" Division		
Foushee, Kevin	Darty Minds	5.5 ASPs	Grubb, Ed	Stick a Cork In It!	4.0	ASPs	Tompkins, Charles	Chalker's Nightmare		9m
Wall, Keith	Monkey Business	5.5 ASPs	Limerick, Jeremy	Inglourious Darters	4.0	ASPs	Lalino, Steve	De Ducks Part Deux	15-da	art 301
Wilcenski, Steve	North Raleigh Allia	5.5 ASPs	Steppe, Mike	Projectile Dysfuncti	4.0	ASPs	Ferdon, Jenny	Old Darting Bastarc	4.5	ASPs
Bakowski, Adam	Lunatic Fringe	5.0 ASPs	Todd, Patrick	Hump Day!	4.0	ASPs	Barlow, Brian	Old Darting Bastarc	4.0	ASPs
Gaulthier, Kyle	Triple D Bronze Ba	5.0 ASPs	Peterson, Chris	Projectile Dysfuncti	3.5	ASPs	Dehnel, Sebastian	I'm about to Ton!	3.5	ASPs
Jacobi, Paul	Element XXX	5.0 ASPs		"E" Division				"H" Division		
Johnson, Michael	Appetite for Destruc	5.0 ASPs	Hogan, Neal	Death Throw	1	120-In	Shirey, Anthony	Brown's Bombers	13	30-Out
White, Vic	North Raleigh Allia	5.0 ASPs	Schaefer, John	Sharky's Machine	1	110-In	Phillips, Josh	Ballistic Behavior	3.5	ASPs
Bumpass, Mike	North Raleigh Allia	4.5 ASPs	Schaefer, John	Sharky's Machine	11-da	rt 301	Uvino, Chris	Chalk It Up	3.5	ASPs
Carroll, John	Darty Minds	4.5 ASPs	Allison, Frank	Sharky's Machine	14-da	art 301	Gorts, Tim	All About That Bull	2.5	ASPs
Kramer, John	Element XXX	4.5 ASPs	Rudy, Jeff	Game of Throws	14-da	art 301	Holmes, Joseph	All About That Bull	2.5	ASPs
McNamara, Tim	Monkey Business	4.5 ASPs	Jones, Grey	Red-eye Rangers		ASPs	Shepard, Missy	All About That Bull	2.5	ASPs
Tan, Wil	Element XXX	4.5 ASPs	Bowman, Merrill	Shark Shooters	4.0	ASPs	Shirey, Anthony	Brown's Bombers	2.5	ASPs
	"B" Division		Hogan, Neal	Death Throw	4.0	ASPs	Spencer, Kenny	Tips & Shafts	2.5	ASPs
Klann, Eric		-dart SCkt	Colton, Mitch	Coral Reefers		ASPs	Voorhees, Cindy	All About That Bull	2.5	ASPs
Sellers, Mark	Thursday's Still Suc		Schaefer, John	Sharky's Machine		ASPs	Young, Mike	Dart Buddies	2.5	ASPs

			DIVISIONAL	TROPHY DART C	CATEGORIES			
	A division	B division	<u>C division</u>	D division	E division	F division	G division	H division
High In	Ton-30 (1/24/18)			Ton (1/24/18)	Ton-20 (1/24/18)	94 (1/24/18)		
(301 first turn	Dean Cusher	(none reported)	(none reported)	Dan Clark	Neal Hogan	Chris Ferri	(none reported)	(none reported)
only!!)	Appetite for Dest.			Projectile Dyfunc.	Death Throw	Walking That Wire		
High Out							83 (1/24/18)	Ton-30 (1/24/18)
(301/501/	(none reported)	(none reported)	(none reported)	(none reported)	(none reported)	(none reported)	Jeremy Cominole	Anthony Shirey
1001)							Irish Ton	Ballistic Behavior
Fast	10 darts (1/24/18)	16 darts (1/24/18)		15 darts (1/24/18)	11 darts (1/24/18)	14 darts (1/24/18)	15 darts (1/24/18)	18 darts (1/24/18)
Singles	Dean Cusher	Matt Veith	(none reported)	Ed Grubb	John Schaefer	Brad Bushman	Steve Lalino	Neal Crawford
301	Appetite for Dest.	Diddle Diddle		Stick a Cork In It!	Sharky's Machine	Show Me Your	De Ducks	Chalk It Up
Fast	21 darts (1/24/18)	19 darts (1/24/18)						
Singles	Tom Brown	Eric Klann	(none reported)	(none reported)	(none reported)	(none reported)	(none reported)	(none reported)
Cricket	Element XXX	Kiss My						
Fast								
Doubles	(none reported)	(none reported)	(none reported)	(none reported)	(none reported)	(none reported)	(none reported)	(none reported)
Cricket								
Fast	24 darts (1/24/18)					27 darts (1/24/18)		
Doubles	John Kramer	(none reported)	(none reported)	(none reported)	(none reported)	Doug Adams &	(none reported)	(none reported)
501	& Wil Tan					Chris Robertson		
	Element XXX					Scorekeeper		
Perfect Throws								
<u>9-Marks</u>			1 \	er's Nightmare, 1/24			<u>6-Bulls</u>	
Michael Johnson (A	ppetite for Destructi	on, 1/24) Justin	Vick (Don't Hit the	e Scorekeeper, 1/24)	(none reporte	d)	(none reported)	

HOW	то	REACH	US	

Γ

1	HOW TO REACH U	3
RDL VoiceMail	919-990-1218	
Mail Scoresheets to:	Jason Kilts - RDL S	tatistician
5005 Rain	ntree Road, Durham, I	NC 27712
Scoresheet FAX avail	lable at:	
919-324-3545 -	email JK for confirm	ation of receipt!
New Member Fees an		-
(for now, these	also go to the Membe	ership Director)
Heather Bohana	n, 206 Shoals Lane, G	arner, NC 27529
Nomination and Elec	tion Ballots:	
Heather Bohana	n, 206 Shoals Lane, G	arner, NC 27529
<u>Grievances/Complain</u>	ts/Rules Suggestions:	-
Britt Phillips, 21	12 Castle Pines Dr, Ra	aleigh, NC 27604
All Other RDL Corre		
	ever to Jason and he'll	pass it along)
2018 Board of Directe	ors	
President	Tim Mozzetti	117 017 1010
	email: tjmozz@gr	
Vice President	Maridy Knight	919-417-7828
~	email: maridy16@	
Secretary	0	919-889-2457
· · · · ·	email: akborgna@	
(interim) Treasurer	Memb. Director Hee	
	presently also doin	0
Membership	Heather Bohanan	919-326-1956
		Praleighdartleague.org
Rules/Grievances	1	919-210-7648
I	email: brittt_p@y	
League Statistician/E		
email: jdkilt	s@yahoo.com <u>or j</u> dkil	is@gmail.com

"HOT DARTS" LISTING GUIDELINES

Here are the guidelines that will be used for the minimum number of all-star points each week for the "hot darts" page. "A" Div. = 4.5 or more ASPs; "B" Div. = 4.0 or more ASPs

"C, D" Divisions = 3.5 or more ASPs

"E, F, G" Divs. = 3.0 or more ASPs; "H" = 2.5 or more ASPs Also, we will list any fast games, high ins, high outs, or other amazing feats that you think warrant a little recognition (e.g., Ins & Outs higher than a Ton, 24-dart cricket games, 15-dart 301s, 24-dart 501s, Ton-70s and up, 5-Bulls+, etc.).

Extra note: it's also ok to call in "fast games" in each set, even if they don't necessarily meet the maximum dart counts above.

SEASON-LONG TROPHY DART MINIMUM GAMES PLAYED REQUIREMENTS

To be eligible for all-star point ave. & singles win %-age awards, you must play at least 66% of this season's projected games: *for Division "A" (8 teams / division):*

Singles win %-age:min. of 19 Singles Games PlayedAll-star pt. Average:min. of 37 Total Games Playedfor all other Divisions (7 teams / division):min. of 16 Singles Games PlayedSingles win %-age:min. of 32 Total Games Played

PENALTY LOG - All the penalties assessed this season. **Ineligible Player (any match win, all points, all statistics):** Pat's Blue Ribbon (C, wk.1, 10 pts.).

RDL WEBSITE - www.raleighdartleague.org

New webmaster: Phil Robertson (of Flightmare) contact him, if needed, at: philmrob@gmail.com

CALENDAR OF EVENTS

Com Eth 4	United Deals Guiner Devil 1 Part 1 Jan 610							
Sun., Feb. 4	Upper Deck Super Bowl blind draw; \$10 entry							
1:00 p.m.	bar adds \$5 per entrant; < 33 entrants = double							
	elimination; 33+ entrants = single-elimination							
Sat., Feb. 10	NC City Dart League & NC Ladies' Cup							
	<u>CDL</u> : Ral@ChHill, Dur@CapArea, PCity@Jack,							
Boone	@Pied, Pine@LakeN, Char@Ashe, (Bye-Wilm)							
<u>NCLC</u> : A	Apex@ChHill, FuqVar@CapArea, Pine@LakeN,							
	Char@Ashe, (Byes-Jack,Wilm,Pied)							
Mon., Feb. 12	ADO 501 Local Qualifier, Upper Deck, 7 pm							
Feb. 16-18	Sweetheart Shootout, Players Sports Bar,							
	5211-A West Market St, Greensboro, NC 27409							
	info: Brooke Masten, 336-817-0909							
Sat., Feb. 24	ADO 501 National Qualifer, Blue Rocks,							
10:30 a.m.	Pineville, NC (for 4/13 Nationals in Charlotte)							
Mon., Feb. 26	Spring 2018 - Fifth week captains' meeting							
7:00-8:00 p.m.	Upper Deck; end of roster additions/							
i 	replacements (Also date of RDL Board Mtg.)							
Mar. 2-4	Aim for Eastern NC, (ADO), \$2600+, Beach							
	Tavern, 413 W Fort Macon Rd, Atlantic Beach,							
	NC; info: Eugene Guthrie, 252-725-9570							
Mar. 9-11	Fire on the Mountain Classic, (ADO), \$5500,							
	Crowne Plaza Asheville, 1 Resort Drive							
	Asheville, NC; info: Rob Walsh, 828-318-4432							
Mar. 16-18	35th Ann. St. Patrick's Tournament, (ADO)							
	Players Sports Bar, 5211-A West Market St,							
	Greensboro, NC 27409; flyer not yet available							
Mar. 22-25	Virginia Beach Classic, (ADO), \$37,580							
Mon., Apr. 2	RDL Board Meeting							
Sat., Apr. 7	NCCDL/NCLC match weekend							
Apr. 13-15	Charlotte Open, (ADO), \$20,000							
Sat., Apr. 28	NCCDL/NCLC match weekend							
	RDL Board Meeting							
	9 / 16 - RDL Divisional Tournaments							
	Spring 2018 - Season Banquet, site TBD							
jana sésa se Xa sesa .								
Other Local Weekly Leagues								

Tuesdays	Bull City Dart League, Durham
Thursdays	Triangle Dart League, Chapel Hill

Weekly Blind Draws - Over the years, many blind draws have come and gone. If any of these folds or if any others start up, please let me know and I'll update this list. Thanks. (these 2 are double elim., \$5 entry, bar matches the pot...

& now they add an <u>extra \$50 if there are 32+ players</u>!) Upper Deck, 919-460-1786, 329 N.Harrison Fri., 8 pm Upper Deck, 919-460-1786, 329 N.Harrison Sun., 8 pm (this one is \$5 entry, bar matches the pot! signups end 7:45) Fri., 8 pm Brown's, 919-878-9092, 5500 Atl. Springs Rd. (these two are \$5 entry, bar matches <u>150% if 16+ players</u>!) Sharky's Place, 919-783-5448, 5800 Duraleigh Sat., 8 pm Mon., 8 pm Sharky's Place, 919-783-5448, 5800 Duraleigh (these one is double elim., \$5 entry, bar matches the pot!) Mon., 8 pm Hot Shots, 919-460-6307, 107 Edinburgh Dr S (this one is <u>free</u>, with the winners receiving gift certificates) Jordan Lake Brewing, 320 E. Durham St., Cary Tue., 7 pm

THIS WEEK'S MATCHES (Week 2)		NEXT WEEK'S MATCHES (Week 3)					
Monkey Business @ Element XXX (Upper Deck 12&14)	North Ral. Alliance @ Element XXX (Upper Deck 12&14)					
Appetite for Destruc. @ Darty Minds (Cleveland - Garner 3&4) "A"	Appetite for Destruc. @ Dartistic Pursuits (The Luxury Box)					
Dartistic Pursuits @ Triple D Bronze Balls (Sharky's Place 3&4) Div.	Darty Minds @ Triple D Bronze Balls (Sharky's Place 3&4)					
Lunatic Fringe @ North Ral. Alliance (Brown's Billiards 5&6)	Lunatic Fringe @ Monkey Business (Upper Deck 3&4)					
Nine Lives @ Shooter McGavin (Mac's Tavern 1&2)	Diddle Diddle @ Nine Lives (Oak and Dagger)					
Kiss My @ Traveling Beer Bellies (The Luxury Boy) ''B''	Shooter McGavin @ Kiss My (Upper Deck 5&6)					
Menace 2 Sobriety @ Diddle Diddle (Compass Rose) Div.	Traveling Beer Bellies @ Thursday's Still Suck (Amer. Leg. F-V 3&4)					
BYE - Thursday's Still Suck		BYE - Menace 2 Sobriety					
We Be Trippin' @ The Bunkers (Pat Murnane's 3&4)	Big Bulls @ The Bunkers (Pat Murnane's 3&4)					
Rif Raf @ Big Bulls (Mac's Tavern 3&4) "C"	DD 214 @ Pat's Blue Ribbon (Pat Murnane's 1&2)					
One Armed Bandits @ Pat's Blue Ribbon (Pat Murnane's 1&2) Div.	We Be Trippin' @ One Armed Bandits (Proof Five Points)					
BYE - DD 214		BYE - Rif Raf					
Hump Day! @ Garage Inc. (Locked & Loaded)	WINNAU @ Garage Inc. (Locked & Loaded)					
Inglourious Darters @ Stick a Cork In It! (Upper Deck 16&17) ''D''	Cheap Shots @ Hump Day! (Scooters 1&2)					
WINNAU @ Cheap Shots (Scooters 1&2) Div.	Inglourious Darters @ Projectile Dysfunction (Scooters 3&4)					
BYE - Projectile Dysfunction		BYE - Stick a Cork In It!					
Death Throw @ Double In, Stumble Out (Triple Barre)	Shark Shooters @ Double In, Stumble Out (Triple Barrel)					
Shark Shooters @ Red-eye Rangers (Sharky's Place 1&2) ''E''	Red-eye Rangers @ Death Throw (Hot Shots 1&2)					
Coral Reefers @ Sharky's Machine (Sharky's Place 5&6) Div.	Game of Throws (A) Coral Reefers (High Park)					
BYE - Game of Throws		BYE - Sharky's Machine					
Sofa Kings @ Bulls Up (Hot Shots 3&4)	Walking That Wire @ Sofa Kings (Mac's Tavern 1&2)					
Philthy Coaching @ Walking That Wire (Pantana's Pool Hal) ''F''	Bulls Up @ Philthy Coaching (Mac's Tavern 3&4)					
Don't Hit/Scorekeeper @ Why So Serious? (Brown's Billiards 3&4) Div.	Why So Serious? @ Show Me Your Tips (The Big Easy)					
BYE - Show Me Your Tips		BYE - Don't Hit the Scorekeeper					
Wayne Gretzky @ Just A Bit Outside (Isaac Hunter's)	I'm about to Ton! @ Wayne Gretzky (Upper Deck 1&2)					
I'm about to Ton! @ De Ducks Part Deux (Snookers-RW) "G "	De Ducks Part Deux @ Just A Bit Outside (Isaac Hunter's)					
Chalker's Nightmare @ Old Darting Bastards (Brewster's Pub) Div.	Chalker's Nightmare @ Irish Ton (Pantana's Pool Hall)					
BYE - Irish Ton		BYE - Old Darting Bastards					
Dart Buddies @ Brown's Bombers (Brown's Billiards 1&2)	Dart Buddies @ Ballistic Behavior (Saints & Scholars)					
Ballistic Behavior @ All About That Bull! (Cleveland-Claytor) ''H''	Brown's Bombers @ All About That Bull! (Cleveland-Clayton)					
Tips & Shafts @ Eazy Duzit (The Big Easy) Div.	Eazy Duzit @ Chalk It Up (Amer. Legion F-V 1&2)					
BYE - Chalk It Up		BYE - Tips & Shafts					

PREDICTIONS FOR THE WEEK

As with most recent seasons, the amount of stuff that goes into the week 1 newsletter prevents me from having enough space to include both the season-long and the weekly picks. But I still do them both, and then report the week 1 results to you guys here, so that we have a full season of picks. And this was not a great start for me... I put up a somewhat sad 15-10 record in week 1, I got at least one pick wrong in every division, and I'm a pathetic 0-3 in F division. Wow, that is not good. This week, as per usual, we focus on pairings of 1-0 or 0-1 teams. Sometimes we add in some matches in which a 1-0 team is facing a bye team, but somehow ALL seven week 1 bye teams are facing teams that took a loss. The odds of that are just nuts... but that's where we are... soooo...

$== Two \ 1-0 \ teams ==$

Match of the week: (E Div.) Coral Reefers @ Sharky's Machine. In a division where no team scored outside the range of 10-14 points in week 1, it's pretty clear that every match could be big. Especially ones where both teams have built a slight edge so far. Machine inches ahead, 13-11. Match #2: (A Div.) Appetite for Destruction @ Darty Minds. The top team in the A standings takes on the team with the most convincing week 1 A division upset. Will the top team continue their standard trek, or does the upset train make another stop? Appetite is just too good, 16-8. Match #3: (G Div.) I'm about to Ton! @ De Ducks Part Deux. Some pretty new ground for these teams compared to their recent runs. The Ducks actually just broke a 14-match string, so they're certainly in a good mood. That mood is maybe about to get interrupted though, 14-10. Match #4: (D Div.) Inglourious Darters @ Stick a Cork In It! Big win for the Corkers, taking down a strong WINNAU squad. But Inglourious put up one of the three 20+ scores leaguewide last week. Can those without glory keep that glorious roll going? Hmmm... I guess so? But only 13-11. Match #5: (A Div.) Monkey Business @ Element XXX. The Monkeys

got the biggest upset anywhere in week 1. Or was it?? Geez, I hope they're not in line to do it twice in a row. I'll take my own team, 16-8. == $Two \ 0-1 \ Teams ==$

Match #6: (E Div.) Shark Shooters @ Red-eye Rangers. A pair of heartbreaker losses for these teams, in what is clearly a very tight division. A second tight loss would be agonizing. Rangers, 13-11. Match #7: (G Div.) Chalker's Nightmare @ Old Darting Bastards. In a perfect example of all-star-points-mean-little, Nightmare leads G in ASPs by a bunch. And they're in last place. Old Darting, 14-10. Match #8: (A Div.) Dartistic Pursuits @ Triple D Bronze Balls. Is it possible that Triple D could fall to 0-2 and be fighting for last in A? Surely, that can't happen. Can it? I'll still take Triple D, 15-9. Match #9: (D Div.) WINNAU @ Cheap Shots. Ok, I'm chalking up week 1 for Cheap Shots to one of those rare snowball/quicksand weeks. One thing just led to another... Still, it's WINNAU, 14-10. Match #10: (A Div.) Lunatic Fringe @ North Raleigh Alliance. In what looks to be the deepest A division in many years, being just really good might actually be sub-par. Holy cow. Fringe it is, 15-9. And the remaining 15 matches, sorted by division:

- B Division: Nine Lives 14, Shooter McGavin 10; Kiss My... 13, Traveling Beer Bellies 11; Diddle Diddle 16, Menace 2 Sobriety 8.
- C Division: The Bunkers 14, We Be Trippin' 10; Rif Raf 12, Big Bulls 10; One Armed Bandits 14, Pat's Blue Ribbon 10.
- D Division: Garage Inc. 13, Hump Day! 11.
- E Division: Double In, Stumble Out 14, Death Throw 10.
- F Division: Sofa Kings 13, Bulls Up 11; Philthy Coaching 13, Walking That Wire 11; Scorekeeper 14, Why So Serious? 10.
- G Division: Wayne Gretzky 14, Just A Bit Outside 10.
- H Division: Brown's Bombers 16, Dart Buddies 8; All About That Bull! 14, Ballistic Behavior 10; Tips & Shafts 14, Eazy Duzit 10.

A BIG PAGE OF SEASONAL REMINDERS THAT YOU MIGHT WANT TO KEEP WITH YOU...

NEW SCORESHEET RETURN DEADLINE!!

The weekly deadline for submission of your scoresheets is no longer on Saturday. **The new deadline is 11:59 p.m. Friday** (unless you had a rescheduled match - then it's within 2 days of the day you played).

TIEBREAKER = MATCH WIN, NOT POINT

Don't forget that the tiebreaker game (1001) does not score a team point. Matches decided in 1001 should be recorded as 12-12 (or 11-11, or whatever your tie is), with one team winning & one losing.

TIE SCORE? INDICATE WINNER

Also don't forget that if your match goes to 1001 you need to indicate the winning team in some fashion (circle, "+" sign, etc.).

TEAM NAMES ON YOUR SCORESHEETS

Every season there are several instances of teams listing the team names on opposite sides of the scoresheets (meaning that one team's name is written above the other team's players). Obviously, I will eventually figure these out when the names under a team name aren't on the roster, but it would be cool if you simply indicate the error in some way (or simply flip the names - I would rather an away team be on the home side and vice versa than have the wrong people AND THUS BACKWARDS FINAL SCORE under each side). Thanks.

LOSING TEAM'S SCORESHEET RESPONSIBILITIES

Just a quick note to the new captains: you are NOT responsible for sending in the scoresheet if you lose the match. I DO, however, recommend that you save your copy in case the other team loses theirs - that way, I can still get yours and update the statistics. Oh, and... <u>CHECK THE OTHER TEAM'S SHEET FOR ACCURACY!!!</u>

DOUBLE-CHECK PLAYER NAMES

Please double-check the spelling of the name of each player on your team in the lists on page 10. If anybody's name needs to be corrected, shoot me an email or leave a message on the VoiceMail.

KEEP YOUR INFO CURRENT

Captains, please do not forget that if you change your phone number, I can't reach you, and other captains (who might be forfeiting!) can't reach you. Keep me updated. Thanks.

NOTE ON EMAILED TONS SIGNUPS

If you would like the Tons emailed to you, it's pretty simple. Just email me directly (see page 4) and let me know that you want to be added to the list. I do ask, however, that you also tell me who you are when you email me (as email addresses often are pretty anonymous). I use Yahoo (and GMail) address books, and they are sort of based on last names, and I have far too many people to put in one address book. Having both names helps me track who is in which address book so that I can add and delete people easily when they request it. Thanks, W

when they request it. Thanks. JK

EXTRA NOTE ON EMAILED TONS SIGNUPS

If you are already on the mailing list, there is no need to sign up for the Tons again. And again. And again...

Also, if your address bounces my email three weeks in a row, I will indeed remove you from the list. Just for list maintenance...

WHAT SCOREKEEPERS CAN SAY DURING CRICKET

It is now official RDL policy that **during cricket**, **the scorekeeper may only tell the thrower how many of each number has been hit during this turn**, and may not report any more of the situation (whether a number is now closed, new point total, points still needed, etc.).

CAPTAINS PLEASE READ THIS

What follows here is a list of very important reminders for all of you. I have provided the greatly shortened versions of each of these reminders, so that you can read the entire list quickly.

- 1. Indicate who the 'blocker' players are. Simply writing 'blocker' is not sufficient. And you may NOT pick the same player to fill both blocker slots in any one section a team is short by two players.
- 2. Indicate which players of <u>both</u> teams took part in 1001 games on the front of the scoresheet. This is now <u>MANDATORY</u>, and allows us to check for ineligible players, record statistics, etc.
- 3. Don't forget to make extra copies of your scoresheet blanks.
- 4. Save a copy of each of your completed scoresheets.
- 5. The guidelines for Hot Darts to list (in terms of fast games and such) are on page 4 of every issue of the Tons of Newsletter.
- 6. While the scoresheet no longer has the bar ratings scoreboard, it does still have a box for comments. Those comments are indeed passed on to the Board every few weeks, so by all means point out things that you think need to be changed.
- 7. If you know beforehand that your team will be forfeiting, be a nice guy and call the other team <u>and host establishment</u> in advance.
- 8. NEVER play a player that has not received approval from both the Memb. Director (Heather Bohanan) & Treasurer (Bohanan is currently doing this part too). This includes getting approval even if simply using a player slot for which you've already paid.
- 9. If a player didn't play in any of the four primary sections of the match, that player is ineligible to play in 1001.
- 10. Wednesday player additions and/or changes are not allowed. Those must all be completed no later than Tuesday of each week.

MANY SCORESHEET RETURN PATHS AVAILABLE

Still an old school U.S. Postal Service fan? That's fine, as we still accept scoresheets via that method (and my address is actually on the back of the scoresheet so you can't lose it).

Or maybe you actually own a piece of technology, be it new or even not all that new... we likely have you covered too. We accept scoresheets through several additional "modern" methods:

-- You can fax it to me (the fax number is in the newsletter every week, and is also on the back of the scoresheet).

-- Or you can use your scanner and email me an image of the sheet (my email addresses are in the Tons every week and also on the back of the scoresheet).

-- You can even shoot me photos of your scoresheet if you want to take care of returning it immediately! Just make sure you have good lighting, you're close enough to the sheet, and it's <u>IN FOCUS</u>. (note: out-of-focus or overly dark photos will not be acceptable... duh).

If you use any of these last three modern electronic methods, I'll even email you a quick confirmation of receipt if I have your email address (thus eliminating any worry on your end :0).

[Quick note if you do actually decide to send me a hard copy via the snail mail side of things. Buying a \$1.35 certificate of mailing could prove to be a nice piece of evidence if your scoresheet ever gets lost in the mail. Do NOT send your scoresheet by certified mail - I do NOT want to have to go to the post office repeatedly to sign for your scoresheets.]

NO CALL-IN REQUIREMENT FOR MATCH RESULTS

As of the Fall 2017 season, winning teams are no longer required to call in match results each week. The league will still have the Voice-Mail number for now (meaning that you can still call in tournament match results if you want), but no regular season weekly calls are needed. In fact, it's probably likely that that VoiceMail will not be checked with anywhere near the regularity that it once had.

SPRING 2018 RDL SCHEDULES FOR ALL DIVISIONS

The schedules for all divisions, on this page and the next, were provided by Membership Director Heather Bohanan. Also included on page 9 are the contact numbers for all the captains and their bars. That way, any of you who need to contact a captain of another team for whatever reason (rescheduling, fun matches, emergency changes in home establishments, etc.) will know who to call and how.

A D	IVISION	A1	A2	A3	A4	A5	A6	A7	A8
		Element	Appetite for	Triple D	Lunatic	Darty	Monkey	North Raleigh	Dartistic
		XXX	Destruction	Bronze Balls	Fringe	Minds	Business	Alliance	Pursuits
Spri	ng 2018	Upper Deck	Upper Deck	Sharky's	Upper Deck	Cleveland DH	Upper Deck	Brown's	The Luxury
Week:	Date:	12+14	12+14	Place 3+4	8+10	Garner 3+4	3+4	Billiards 5+6	Box
1	1/24/2018	AT A8	A7	AT A6	A5	AT A4	A3	AT A2	A1
2	1/31/2018	A6	AT A5	A8	AT A7	A2	AT A1	A4	AT A3
3	2/7/2018	A7	AT A8	A5	AT A6	AT A3	A4	AT A1	A2
4	2/14/2018	AT A5	A6	AT A7	A8	A1	AT A2	A3	AT A4
5	2/21/2018	A3	AT A4	AT A1	A2	AT A6	A5	AT A8	A7
6	2/28/2018	A4	AT A3	A2	AT A1	A8	AT A7	A6	AT A5
7	3/7/2018	AT A2	A1	AT A4	A3	A7	AT A8	AT A5	A6
8	3/14/2018	A8	AT A7	A6	AT A5	A4	AT A3	A2	AT A1
9	3/21/2018	AT A6	A5	AT A8	A7	AT A2	A1	AT A4	A3
10	3/28/2018	AT A7	A8	AT A5	A6	A3	AT A4	A1	AT A2
11	4/4/2018	A5	AT A6	A7	AT A8	AT A1	A2	AT A3	A4
12	4/11/2018	AT A3	A4	A1	AT A2	A6	AT A5	A8	AT A7
13	4/18/2018	AT A4	A3	AT A2	A1	AT A8	A7	AT A6	A5
14	4/25/2018	A2	AT A1	A4	AT A3	AT A7	A8	A5	AT A6

ВD	IVISION	B1	B2	B3	B4	B5	B6	B7	
		Nine	Kiss My	Menace 2	Thursday's	Shooter	Traveling	Diddle	
		Lives	-	Sobriety	Still Suck	McGavin	Beer Bellies	Diddle	
Spri	ng 2018	Oak &	Upper Deck	Locked &	Amer. Legion	Mac's Tavern	The Luxury	Compass	
Week:	Date:	Dagger	5+6	Loaded	FV 3+4	1+2	Box	Rose	
1	1/24/2018	(Bye)	B7	B6	B5	AT B4	AT B3	AT B2	
2	1/31/2018	AT B5	AT B6	AT B7	(Bye)	B1	B2	B3	
3	2/7/2018	B7	B5	(Bye)	B6	AT B2	AT B4	AT B1	
4	2/14/2018	AT B6	(Bye)	B5	AT B7	AT B3	B1	B4	
5	2/21/2018	B4	AT B3	B2	AT B1	B6	AT B5	(Bye)	
6	2/28/2018	B3	AT B4	AT B1	B2	(Bye)	B7	AT B6	
7	3/7/2018	AT B2	B1	B4	AT B3	AT B7	(Bye)	B5	
8	3/14/2018	(Bye)	AT B7	AT B6	AT B5	B4	B3	B2	
9	3/21/2018	B5	B6	B7	(Bye)	AT B1	AT B2	AT B3	
10	3/28/2018	AT B7	AT B5	(Bye)	AT B6	B2	B4	B1	
11	4/4/2018	B6	(Bye)	AT B5	B7	B3	AT B1	AT B4	
12	4/11/2018	AT B4	B3	AT B2	B1	AT B6	B5	(Bye)	
13	4/18/2018	AT B3	B4	B1	AT B2	(Bye)	AT B7	B6	
14	4/25/2018	B2	AT B1	AT B4	B3	B7	(Bye)	AT B5	

CD	IVISION	C1	C2	C3	C4	C5	C6	C7	
		The	Rif	DD 214	One Armed	Big	We Be	Pat's Blue	
		Bunkers	Raf		Bandits	Bulls	Trippin'	Ribbon	
Spri	ing 2018	Pat Murnane's	Rally	Amer. Legion	Proof	Mac's Tavern	Cleveland DH	Pat Murnane's	
Week:	Date:	3+4	Point	FV 3+4	Five Points	3+4	Garner 1+2	1+2	
1	1/24/2018	(Bye)	C7	AT C6	C5	AT C4	C3	AT C2	
2	1/31/2018	C6	AT C5	(Bye)	AT C7	C2	AT C1	C4	
3	2/7/2018	C5	(Bye)	AT C7	C6	AT C1	AT C4	C3	
4	2/14/2018	AT C3	C4	C1	AT C2	C7	(Bye)	AT C5	
5	2/21/2018	AT C7	C6	C5	(Bye)	AT C3	AT C2	C1	
6	2/28/2018	C2	AT C1	AT C4	C3	AT C6	C5	(Bye)	
7	3/7/2018	AT C4	AT C3	C2	C1	(Bye)	C7	AT C6	
8	3/14/2018	(Bye)	AT C7	C6	AT C5	C4	AT C3	C2	
9	3/21/2018	AT C6	C5	(Bye)	C7	AT C2	C1	AT C4	
10	3/28/2018	AT C5	(Bye)	C7	AT C6	C1	C4	AT C3	
11	4/4/2018	C3	AT C4	AT C1	C2	AT C7	(Bye)	C5	
12	4/11/2018	C7	AT C6	AT C5	(Bye)	C3	C2	AT C1	
13	4/18/2018	AT C2	C1	C4	AT C3	C6	AT C5	(Bye)	
14	4/25/2018	C4	C3	AT C2	AT C1	(Bve)	AT C7	C6	

D D	IVISION	D1	D2	D3	D4	D5	D6	D7	
		Garage	Stick a	Cheap	Projectile	Hump	Inglourious	WINNAU	
		Inc.	Cork In It!	Shots	Dysfunction	Day!	Darters		
Spri	ing 2018	Locked &	Upper Deck	Scooters	Scooters	Scooters	Amer. Legion	Break Time	
Week:	Date:	Loaded	16+17	1+2	3+4	1+2	FV 1+2	Billiards	
1	1/24/2018	(Bye)	AT D7	AT D6	AT D5	D4	D3	D2	
2	1/31/2018	D5	D6	D7	(Bye)	AT D1	AT D2	AT D3	
3	2/7/2018	D7	(Bye)	AT D5	D6	D3	AT D4	AT D1	
4	2/14/2018	AT D6	AT D5	(Bye)	AT D7	D2	D1	D4	
5	2/21/2018	AT D2	D1	D4	AT D3	(Bye)	AT D7	D6	
6	2/28/2018	D3	AT D4	AT D1	D2	D7	(Bye)	AT D5	
7	3/7/2018	AT D4	AT D3	D2	D1	AT D6	D5	(Bye)	
8	3/14/2018	(Bye)	D7	D6	D5	AT D4	AT D3	AT D2	
9	3/21/2018	AT D5	AT D6	AT D7	(Bye)	D1	D2	D3	
10	3/28/2018	AT D7	(Bye)	D5	AT D6	AT D3	D4	D1	
11	4/4/2018	D6	D5	(Bye)	D7	AT D2	AT D1	AT D4	
12	4/11/2018	D2	AT D1	AT D4	D3	(Bye)	D7	AT D6	
13	4/18/2018	AT D3	D4	D1	AT D2	AT D7	(Bye)	D5	
14	4/25/2018	D4	D3	AT D2	AT D1	D6	AT D5	(Bye)	

SPRING 2018 RDL SCHEDULES FOR ALL DIVISIONS (continued)

The schedules for all divisions, on this page and the previous, were provided by Membership Director Heather Bohanan. Also included on page 9 are the contact numbers for all the captains and their bars. That way, any of you who need to contact a captain of another team for whatever reason (rescheduling, fun matches, emergency changes in home establishments, etc.) will know who to call and how.

E D	IVISION	E1	E2	E3	E4	E5	E6	E7	
		Double In,	Red-eye	Sharky's	Game of	Death	Shark	Coral	
		Stumble Out	Rangers	Machine	Throws	Throw	Shooters	Reefers	
Spri	ng 2018	Triple Barrel	Sharky's	Sharky's	Upper Deck	Hot Shots	Sharky's	High	
Week:	Date:	Tavern - FV	Place 1+2	Place 5+6	5+6	1+2	Place 3+4	Park	
1	1/24/2018	(Bye)	AT E7	AT E6	AT E5	E4	E3	E2	
2	1/31/2018	E5	E6	E7	(Bye)	AT E1	AT E2	AT E3	
3	2/7/2018	E6	AT E5	(Bye)	AT E7	E2	AT E1	E4	
4	2/14/2018	AT E7	(Bye)	E5	AT E6	AT E3	E4	E1	
5	2/21/2018	AT E4	E3	AT E2	E1	AT E6	E5	(Bye)	
6	2/28/2018	E3	AT E4	AT E1	E2	(Bye)	AT E7	E6	
7	3/7/2018	AT E2	E1	E4	AT E3	E7	(Bye)	AT E5	
8	3/14/2018	(Bye)	E7	E6	E5	AT E4	AT E3	AT E2	
9	3/21/2018	AT E5	AT E6	AT E7	(Bye)	E1	E2	E3	
10	3/28/2018	AT E6	E5	(Bye)	E7	AT E2	E1	AT E4	
11	4/4/2018	E7	(Bye)	AT E5	E6	E3	AT E4	AT E1	
12	4/11/2018	E4	AT E3	E2	AT E1	E6	AT E5	(Bye)	
13	4/18/2018	AT E3	E4	E1	AT E2	(Bye)	E7	AT E6	
14	4/25/2018	E2	AT E1	AT E4	E3	AT E7	(Bye)	E5	

F D	IVISION	F1	F2	F3	F4	F5	F6	F7	
		Sofa	Philthy	Don't Hit The	Show Me	Bulls	Walking	Why So	
		Kings	Coaching	Scorekeeper	Your Tips	Up	That Wire	Serious?	
Spri	ng 2018	Mac's Tavern	Mac's Tavern	Brown's	The Big	Hot Shots	Pantana's	Brown's	
Week:	Date:	1+2	3+4	Billiards 3+4	Easy (Cary)	3+4	Pool Hall	Billiards 3+4	
1	1/24/2018	(Bye)	F7	F6	F5	AT F4	AT F3	AT F2	
2	1/31/2018	AT F5	AT F6	AT F7	(Bye)	F1	F2	F3	
3	2/7/2018	F6	F5	(Bye)	F7	AT F2	AT F1	AT F4	
4	2/14/2018	F7	(Bye)	F5	AT F6	AT F3	F4	AT F1	
5	2/21/2018	AT F4	F3	AT F2	F1	(Bye)	AT F7	F6	
6	2/28/2018	AT F2	F1	F4	AT F3	F6	AT F5	(Bye)	
7	3/7/2018	F3	AT F4	AT F1	F2	AT F7	(Bye)	F5	
8	3/14/2018	(Bye)	AT F7	AT F6	AT F5	F4	F3	F2	
9	3/21/2018	F5	F6	F7	(Bye)	AT F1	AT F2	AT F3	
10	3/28/2018	AT F6	AT F5	(Bye)	AT F7	F2	F1	F4	
11	4/4/2018	AT F7	(Bye)	AT F5	F6	F3	AT F4	F1	
12	4/11/2018	F4	AT F3	F2	AT F1	(Bye)	F7	AT F6	
13	4/18/2018	F2	AT F1	AT F4	F3	AT F6	F5	(Bye)	
14	4/25/2018	AT F3	F4	F1	AT F2	F7	(Bye)	AT F5	

G D	IVISION	G1	G2	G3	G4	G5	G6	G7	
		Wayne	De Ducks	Irish	Old Darting	I'm about	Chalker's	Just A Bit	
		Gretzky	Part Deux	Ton	Bastards	to Ton!	Nightmare	Outside	
Spri	ing 2018	Upper Deck	Snooker's -	Pantana's	Brewster's	Champions	Pat Murnane's	Isaac Hunter's	
Week:	Date:	1+2	Ridgewood	Pool Hall	Pub	Bars & More	3+4	Tavern	
1	1/24/2018	(Bye)	AT G6	G7	AT G5	G4	G2	AT G3	
2	1/31/2018	AT G7	G5	(Bye)	G6	AT G2	AT G4	G1	
3	2/7/2018	G5	AT G7	G6	(Bye)	AT G1	AT G3	G2	
4	2/14/2018	AT G6	(Bye)	AT G5	G7	G3	G1	AT G4	
5	2/21/2018	AT G3	AT G4	G1	G2	AT G6	G5	(Bye)	
6	2/28/2018	G4	AT G3	G2	AT G1	(Bye)	AT G7	G6	
7	3/7/2018	AT G2	G1	AT G4	G3	G7	(Bye)	AT G5	
8	3/14/2018	(Bye)	G6	AT G7	G5	AT G4	AT G2	G3	
9	3/21/2018	G7	AT G5	(Bye)	AT G6	G2	G4	AT G1	
10	3/28/2018	AT G5	G7	AT G6	(Bye)	G1	G3	AT G2	
11	4/4/2018	G6	(Bye)	G5	AT G7	AT G3	AT G1	G4	
12	4/11/2018	G3	G4	AT G1	AT G2	G6	AT G5	(Bye)	
13	4/18/2018	AT G4	G3	AT G2	G1	(Bye)	G7	AT G6	
14	4/25/2018	G2	AT G1	G4	AT G3	AT G7	(Bve)	G5	

НD	IVISION	H1	H2	H3	H4	H5	H6	H7	
		Dart	Ballistic	Brown's	All About	Chalk	Tips &	Eazy	
		Buddies	Behavior	Bombers	That Bull!	lt Up	Shafts	Duzit	
Spri	ng 2018	Upper Deck	Saints &	Brown's	Cleveland	Amer. Legion	Brown's	The Big	
Week:	Date:	16+17	Scholars	Billiards 1+2	DH - Clayton	FV 1+2	Billiards 5+6	Easy (Cary)	
1	1/24/2018	H4	H3	AT H2	AT H1	AT H6	H5	(Bye)	
2	1/31/2018	AT H3	AT H4	H1	H2	(Bye)	AT H7	H6	
3	2/7/2018	AT H2	H1	AT H4	H3	H7	(Bye)	AT H5	
4	2/14/2018	H5	(Bye)	H6	AT H7	AT H1	AT H3	H4	
5	2/21/2018	AT H6	H7	AT H5	(Bye)	H3	H1	AT H2	
6	2/28/2018	(Bye)	H5	AT H7	H6	AT H2	AT H4	H3	
7	3/7/2018	H7	AT H6	(Bye)	H5	AT H4	H2	AT H1	
8	3/14/2018	AT H4	AT H3	H2	H1	H6	AT H5	(Bye)	
9	3/21/2018	H3	H4	AT H1	AT H2	(Bye)	H7	AT H6	
10	3/28/2018	H2	AT H1	H4	AT H3	AT H7	(Bye)	H5	
11	4/4/2018	AT H5	(Bye)	AT H6	H7	H1	H3	AT H4	
12	4/11/2018	H6	AT H7	H5	(Bye)	AT H3	AT H1	H2	
13	4/18/2018	(Bye)	AT H5	H7	AT H6	H2	H4	AT H3	
14	4/25/2018	AT H7	H6	(Bye)	AT H5	H4	AT H2	H1	

SPRING 2018 RDL CAPTAIN AND HOST ESTABLISHMENT PHONE NUMBERS

TEAM # A	A1	A2	A3	A4	A5	A6	A7	A8
TEAM NAME	Element XXX	Appetite for Destruction	Triple D Bronze Balls	Lunatic	Darty	Monkey Business	North Raleigh Alliance	Dartistic Pursuits
	Jason	Michael	Charles	Fringe Joel	Minds Sal	Tim	David	Fon
	Kilts	Johnson	Parker	Eason	Reitano	Bunn	Huffman	Denton
PHONE	919-423-5766	919-413-0495	843-452-7745	919-227-6966	919-621-2245	919-369-7563	919-369-7656	919-696-8243
BAR	Upper Deck	Upper Deck	Sharky's	Upper Deck	Cleveland DH	Upper Deck	Brown's	The Luxury
BOARDS	12+14	12+14	Place 3+4	8+10	Garner 3+4	3+4	Billiards 5+6	Box
BAR PHONE	919-460-1786	919-460-1786	919-783-5448	919-460-1786	919-771-2337	919-460-1786	919-878-9092	919-900-7955
TEAM # B	B1	B2	B3	B4	B5	B6	B7	
TEAM	Nine	Kiss My	Menace 2	Thursday's	Shooter	Traveling	Diddle	
NAME	Lives		Sobriety	Still Suck	McGavin	Beer Bellies	Diddle	
CAPTAIN	David	Julie	Dave	Jeff	Ronnie	Bob	Joe	
DUONE	Romanchek	Phillips	Johnson	Jones	Knott	McCredie	McCartney	
PHONE BAR	919-673-4102 Oak &	919-937-7359 Upper Deck	919-218-0447 Locked &	919-971-8862 Amer. Legion	919-656-5353 Mac's Tavern	919-782-3037 The Luxury	919-523-1252 Compass	
BOARDS	Dagger	5+6	Loaded	FV 3+4	1+2	Box	Rose	
BAR PHONE	919-945-9382	919-460-1786	919-661-6688	919-557-5990	919-467-4114	919-900-7955	919-875-5683	
TEAM # C	C1	C2	C3	C4	C5	C6	C7	
TEAM	The	Rif	DD 214	One Armed	Big	We Be	Pat's Blue	
NAME	Bunkers	Raf		Bandits	Bulls	Trippin'	Ribbon	
CAPTAIN	Erin	Brian	George	Lyman	Kevin	Scott	Jeff	
	Hartmann	Gaertner	Guenther	Kiser	Reinert	Stephenson	Cashin	
PHONE	919-337-2875	919-349-9724	919-606-0340	919-418-8174	919-868-3610	919-368-8492	704-839-1143	
BAR	Pat Murnane's	Rally	Amer. Legion	Proof	Mac's Tavern	Cleveland DH	Pat Murnane's	
BOARDS	3+4	Point	FV 3+4	Five Points	3+4	Garner 1+2	1+2	
BAR PHONE	919-562-5570	919-678-1088	919-557-5990	919-322-1960	919-467-4114	919-771-2337	919-562-5570	
TEAM # D	D1	D2	D3	D4	D5	D6	D7	
	Garage	Stick a Cork In It!	Cheap Shots	Projectile	Hump	Inglourious	WINNAU	
NAME CAPTAIN	Inc. Gary	Angela	Dave	Dysfunction Brian	Day! Pete	Darters Deborah	Nicole	
CAFTAIN	Long	Jeffcoat	Buckman	Smith	Rutten	Blackwelder	Kubel	
PHONE	919-441-2774	919-673-7339	919-795-3820	919-255-8418	919-876-2118	919-451-3164	919-389-6431	
BAR	Locked &	Upper Deck	Scooters	Scooters	Scooters	Amer. Legion	Break Time	
BOARDS	Loaded	16+17	1+2	3+4	1+2	FV 1+2	Billiards	
BAR PHONE	040 004 0000							
	919-661-6688	919-460-1786	919-954-2171	919-954-2171	919-954-2171	919-557-5990	919-615-0107	
TEAM # E	919-661-6688 E1	919-460-1786 E2	919-954-2171 E3	919-954-2171 E4	919-954-2171 E5	919-557-5990 E6	919-615-0107 E7	
TEAM # E TEAM					E5 Death		E7 Coral	
TEAM # E TEAM NAME	E1 Double In, Stumble Out	E2 Red-eye Rangers	E3 Sharky's Machine	E4 Game of Throws	E5 Death Throw	E6 Shark Shooters	E7 Coral Reefers	
TEAM # E TEAM	E1 Double In, Stumble Out Aden	E2 Red-eye Rangers Joe	E3 Sharky's Machine Scott	E4 Game of Throws Eric	E5 Death Throw Tolson	E6 Shark Shooters Michelle	E7 Coral Reefers Sean	
TEAM # E TEAM NAME CAPTAIN	E1 Double In, Stumble Out Aden Simpson	E2 Red-eye Rangers Joe Kunesh	E3 Sharky's Machine Scott Fink	E4 Game of Throws Eric Bordeau	E5 Death Throw Tolson Willis	E6 Shark Shooters Michelle Stacy	E7 Coral Reefers Sean Jarvah	
TEAM # E TEAM NAME CAPTAIN PHONE	E1 Double In, Stumble Out Aden Simpson 919-414-4857	E2 Red-eye Rangers Joe Kunesh 919-637-4983	E3 Sharky's Machine Scott Fink 919-623-6007	E4 Game of Throws Eric Bordeau 919-414-1727	E5 Death Throw Tolson Willis 919-606-3670	E6 Shark Shooters Michelle Stacy 919-985-4799	E7 Coral Reefers Sean Jarvah 919-345-4179	
TEAM # E TEAM NAME CAPTAIN PHONE BAR	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's	E7 Coral Reefers Sean Jarvah 919-345-4179 High	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious?	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary)	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # G	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # G TEAM	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # G TEAM NAME	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton!	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # G TEAM	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky Misty	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux Bob	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton Jeremy	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards Blaine	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton! Ken	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare Jeremy	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside Shawn	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # G TEAM NAME	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton!	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # G TEAM TEAM NAME CAPTAIN	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky Misty Wilson	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux Bob Carawon	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton Jeremy Cominole	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards Blaine Cornell	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton! Ken Theall	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare Jeremy Moulden	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside Shawn Budd	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR PHONE TEAM # G TEAM # G TEAM # CAPTAIN NAME CAPTAIN PHONE	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky Misty Wilson 910-315-2448	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux Bob Carawon 919-210-8977	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton Jeremy Cominole 919-696-1020	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards Blaine Cornell 828-964-6635	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton! Ken Theall 919-244-7856	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare Jeremy Moulden 919-671-1572	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside Shawn Budd 908-787-2887	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BAR PHONE TEAM # G TEAM # G TEAM CAPTAIN PHONE BAR	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky Misty Wilson 910-315-2448 Upper Deck	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux Bob Carawon 919-210-8977 Snooker's -	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton Jeremy Cominole 919-696-1020 Pantana's	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards Blaine Cornell 828-964-6635 Brewster's	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton! Ken Theall 919-244-7856 Champions	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare Jeremy Moulden 919-671-1572 Pat Murnane's	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside Shawn Budd 908-787-2887 Isaac Hunter's	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # G TEAM # G TEAM NAME CAPTAIN PHONE BAR BOARDS	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky Misty Wilson 910-315-2448 Upper Deck 1+2	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux Bob Carawon 919-210-8977 Snooker's - Ridgewood	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton Jeremy Cominole 919-696-1020 Pantana's Pool Hall	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards Blaine Cornell 828-964-6635 Brewster's Pub	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton! Ken Theall 919-244-7856 Champions Bars & More	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare Jeremy Moulden 919-671-1572 Pat Murnane's 3+4	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside Shawn Budd 908-787-2887 Isaac Hunter's Tavern	
TEAM # E TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # G TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE BAR BOARDS BAR PHONE TEAM # H TEAM # H TEAM # H	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky Misty Wilson 910-315-2448 Upper Deck 1+2 919-460-1786 H1 Dart	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux Bob Carawon 919-210-8977 Snooker's - Ridgewood 919-828-7665 H2 Ballistic	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton Jeremy Cominole 919-696-1020 Pantana's Pool Hall 919-833-2990 H3 Brown's	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards Blaine Cornell 828-964-6635 Brewster's Pub 919-650-1270 H4 All About	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton! Ken Theall 919-244-7856 Champions Bars & More 919-655-5557 H5 Chalk	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare Jeremy Moulden 919-671-1572 Pat Murnane's 3+4 919-562-5570 H6 Tips &	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside Shawn Budd 908-787-2887 Isaac Hunter's Tavern 919-996-9484 H7 Eazy	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # G TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE BAR BOARDS BAR PHONE	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky Misty Wilson 910-315-2448 Upper Deck 1+2 919-460-1786 H1 Dart Buddies	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux Bob Carawon 919-210-8977 Snooker's - Ridgewood 919-828-7665 H2 Ballistic Behavior	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton Jeremy Cominole 919-696-1020 Pantana's Pool Hall 919-833-2990 H3 Brown's Bombers	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards Blaine Cornell 828-964-6635 Brewster's Pub 919-650-1270 H4 All About That Bull!	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton! Ken Theall 919-244-7856 Champions Bars & More 919-655-5557 H5 Chalk It Up	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare Jeremy Moulden 919-671-1572 Pat Murnane's 3+4 919-562-5570 H6 Tips & Shafts	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside Shawn Budd 908-787-2887 Isaac Hunter's Tavern 919-996-9484 H7 Eazy Duzit	
TEAM # E TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # G TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE BAR BOARDS BAR PHONE TEAM # H TEAM # H TEAM # H	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky Misty Wilson 910-315-2448 Upper Deck 1+2 919-460-1786 H1 Dart Buddies Lisa	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux Bob Carawon 919-210-8977 Snooker's - Ridgewood 919-828-7665 H2 Ballistic Behavior Britt	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton Jeremy Cominole 919-696-1020 Pantana's Pool Hall 919-833-2990 H3 Brown's Bombers John	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards Blaine Cornell 828-964-6635 Brewster's Pub 919-650-1270 H4 All About That Bull! Cindy	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton! Ken Theall 919-244-7856 Champions Bars & More 919-655-5557 H5 Chalk It Up Ken	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare Jeremy Moulden 919-671-1572 Pat Murnane's 3+4 919-562-5570 H6 Tips & Shafts Denise	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside Shawn Budd 908-787-2887 Isaac Hunter's Tavern 919-996-9484 H7 Eazy Duzit Michael	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE BAR BOARDS BAR PHONE BAR BOARDS BAR PHONE BAR BOARDS BAR PHONE TEAM # H TEAM TEAM # H	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky Misty Wilson 910-315-2448 Upper Deck 1+2 919-460-1786 H1 Dart Buddies Lisa Kincaid	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux Bob Carawon 919-210-8977 Snooker's - Ridgewood 919-828-7665 H2 Ballistic Behavior Britt Phillips	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton Jeremy Cominole 919-696-1020 Pantana's Pool Hall 919-833-2990 H3 Brown's Bombers John Suan	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards Blaine Cornell 828-964-6635 Brewster's Pub 919-650-1270 H4 All About That Bull! Cindy Voorhees	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton! Ken Theall 919-244-7856 Champions Bars & More 919-655-5557 H5 Chalk It Up Ken McNamara	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare Jeremy Moulden 919-671-1572 Pat Murnane's 3+4 919-562-5570 H6 Tips & Shafts Denise Borgna	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside Shawn Budd 908-787-2887 Isaac Hunter's Tavern 919-996-9484 H7 Eazy Duzit Michael Hall	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # G TEAM # G TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # H TEAM TEAM # H	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky Misty Wilson 910-315-2448 Upper Deck 1+2 919-460-1786 H1 Dart Buddies Lisa Kincaid 919-675-4382	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux Bob Carawon 919-210-8977 Snooker's - Ridgewood 919-828-7665 H2 Ballistic Behavior Britt Phillips 919-210-7648	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton Jeremy Cominole 919-696-1020 Pantana's Pool Hall 919-833-2990 H3 Brown's Bombers John Suan 919-717-9456	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards Blaine Cornell 828-964-6635 Brewster's Pub 919-650-1270 H4 All About That Bull! Cindy Voorhees 919-464-8679	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton! Ken Theall 919-244-7856 Champions Bars & More 919-655-5557 H5 Chalk It Up Ken McNamara 919-753-6304	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare Jeremy Moulden 919-671-1572 Pat Murnane's 3+4 919-562-5570 H6 Tips & Shafts Denise Borgna 919-961-8324	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside Shawn Budd 908-787-2887 Isaac Hunter's Tavern 919-996-9484 H7 Eazy Duzit Michael Hall 609-356-2997	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE BAR BOARDS BAR PHONE BAR BOARDS BAR PHONE BAR BOARDS BAR PHONE BAR BOARDS BAR PHONE BAR BOARDS BAR PHONE BAR	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky Misty Wilson 910-315-2448 Upper Deck 1+2 919-460-1786 H1 Dart Buddies Lisa Kincaid 919-675-4382 Upper Deck	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux Bob Carawon 919-210-8977 Snooker's - Ridgewood 919-828-7665 H2 Ballistic Behavior Britt Phillips 919-210-7648 Saints &	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton Jeremy Cominole 919-696-1020 Pantana's Pool Hall 919-833-2990 H3 Brown's Bombers John Suan 919-717-9456 Brown's	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards Blaine Cornell 828-964-6635 Brewster's Pub 919-650-1270 H4 All About That Bull! Cindy Voorhees 919-464-8679 Cleveland	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton! Ken Theall 919-244-7856 Champions Bars & More 919-655-5557 H5 Chalk It Up Ken McNamara 919-753-6304 Amer. Legion	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare Jeremy Moulden 919-671-1572 Pat Murnane's 3+4 919-562-5570 H6 Tips & Shafts Denise Borgna 919-961-8324 Brown's	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside Shawn Budd 908-787-2887 Isaac Hunter's Tavern 919-996-9484 H7 Eazy Duzit Michael Hall 609-356-2997 The Big	
TEAM # E TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # F TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # G TEAM # G TEAM NAME CAPTAIN PHONE BAR BOARDS BAR PHONE TEAM # H TEAM TEAM # H	E1 Double In, Stumble Out Aden Simpson 919-414-4857 Triple Barrel Tavern - FV 919-762-0940 F1 Sofa Kings Ken Moore 919-601-8781 Mac's Tavern 1+2 919-467-4114 G1 Wayne Gretzky Misty Wilson 910-315-2448 Upper Deck 1+2 919-460-1786 H1 Dart Buddies Lisa Kincaid 919-675-4382	E2 Red-eye Rangers Joe Kunesh 919-637-4983 Sharky's Place 1+2 919-783-5448 F2 Philthy Coaching Eric Emerton 919-741-9768 Mac's Tavern 3+4 919-467-4114 G2 De Ducks Part Deux Bob Carawon 919-210-8977 Snooker's - Ridgewood 919-828-7665 H2 Ballistic Behavior Britt Phillips 919-210-7648	E3 Sharky's Machine Scott Fink 919-623-6007 Sharky's Place 5+6 919-783-5448 F3 Don't Hit The Scorekeeper Romuald Knight 919-436-6692 Brown's Billiards 3+4 919-878-9092 G3 Irish Ton Jeremy Cominole 919-696-1020 Pantana's Pool Hall 919-833-2990 H3 Brown's Bombers John Suan 919-717-9456	E4 Game of Throws Eric Bordeau 919-414-1727 Upper Deck 5+6 919-460-1786 F4 Show Me Your Tips Lee Powell 919-901-9229 The Big Easy (Cary) 919-468-6007 G4 Old Darting Bastards Blaine Cornell 828-964-6635 Brewster's Pub 919-650-1270 H4 All About That Bull! Cindy Voorhees 919-464-8679	E5 Death Throw Tolson Willis 919-606-3670 Hot Shots 1+2 919-460-6307 F5 Bulls Up Dan Butterworth 919-368-6888 Hot Shots 3+4 919-460-6307 G5 I'm about to Ton! Ken Theall 919-244-7856 Champions Bars & More 919-655-5557 H5 Chalk It Up Ken McNamara 919-753-6304	E6 Shark Shooters Michelle Stacy 919-985-4799 Sharky's Place 3+4 919-783-5448 F6 Walking That Wire Andy Bowen 919-323-6453 Pantana's Pool Hall 919-833-2990 G6 Chalker's Nightmare Jeremy Moulden 919-671-1572 Pat Murnane's 3+4 919-562-5570 H6 Tips & Shafts Denise Borgna 919-961-8324	E7 Coral Reefers Sean Jarvah 919-345-4179 High Park 919-833-4527 F7 Why So Serious? Anthony Cannizzaro 919-452-0078 Brown's Billiards 3+4 919-878-9092 G7 Just A Bit Outside Shawn Budd 908-787-2887 Isaac Hunter's Tavern 919-996-9484 H7 Eazy Duzit Michael Hall 609-356-2997	

Singles	301	Singles Cricket	Singles Record	Singles Win %-age	Doubles Cricket	Doubles 501	Doubles	Record	Doubles Win %-age	Sngls + Dbls Record	Sngls + Dbls Win %-age	Tiebreaker Ws Tiebreaker Ls	All-Star Points	Games Played	All-Star Point Average	Matches Played
A1/ Element XXX 5	1	4 2	9 3	0.750	3 0	1 2		2	0.667	17 7	0.708	0 0	31.0	24	1.292	
A 10 Kilts, Jason 1	0	0 1	1 1 1 2 0	0.500	1 0	0 1		1	0.500	2 2	0.500	0 0	2.0	4	0.500	1
A 11 Brown, Tom 1 A 12 Jacobi, Paul 0	0 1	$ 1 0 \\ 1 0 $	$ \begin{array}{cccc} 2 & 0 \\ 1 & 1 \end{array} $	1.000 0.500	$ 1 0 \\ 1 0 $	$ \begin{array}{ccc} 0 & 1 \\ 0 & 1 \end{array} $	-	1 1	0.500 0.500	$ \begin{array}{ccc} 3 & 1 \\ 2 & 2 \end{array} $	0.750 0.500	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	7.5 5.0	4 4	1.875 1.250	1
A 13 Kramer, John 1	0	1 0	2 0	1.000	1 0	1 0	-	0	1.000	4 0	1.000	0 0	4.5	4	1.125	1
A 14 Massengill, Chad 0	0	0 0	0 0		0 0	0 0		0		0 0		0 0	0.0	0		0
A 15 Phillips, Robbie 1	0	1 0	2 0	1.000	1 0	0 1	1	1	0.500	3 1	0.750	0 0	7.5	4	1.875	1
A 16 Smith, Allen 0	0	0 0	0 0		0 0	0 0		0		0 0		0 0	0.0	0		0
A 17 Tan, Wil 1 A 18 Knight, Mark 0	0 0	$ \begin{array}{ccc} 0 & 1 \\ 0 & 0 \end{array} $	$ \begin{array}{ccc} 1 & 1 \\ 0 & 0 \end{array} $	0.500	$ \begin{array}{ccc} 1 & 0 \\ 0 & 0 \end{array} $	$ \begin{array}{ccc} 1 & 0 \\ 0 & 0 \end{array} $		0 0	1.000	$ \begin{array}{ccc} 3 & 1 \\ 0 & 0 \end{array} $	0.750	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	4.5 0.0	4 0	1.125	1
A 19 Hyler, Dale 0	0	0 0	0 0		0 0	0 0		0		0 0		0 0	0.0	0		0
A2/ Appetite for Destruction 5	1	5 1	10 2	0.833	3 0	3 0	6	0	1.000	22 2	0.917	0 0	29.5	24	1.229	
A 20 Johnson, Michael 1	0	1 0	2 0	1.000	1 0	1 0		0	1.000	4 0	1.000	0 0	5.0	4	1.250	1
A 21 Cusher, Dean 1 A 22 Elder, Craig 1	0 0	$ 1 0 \\ 1 0 $	$ \begin{array}{cccc} 2 & 0 \\ 2 & 0 \end{array} $	1.000 1.000	$ \begin{array}{ccc} 1 & 0 \\ 1 & 0 \end{array} $	$ \begin{array}{ccc} 0 & 0 \\ 1 & 0 \end{array} $		0 0	1.000 1.000	$ \begin{array}{ccc} 3 & 0 \\ 4 & 0 \end{array} $	1.000 1.000	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	6.5 5.5	3 4	2.167 1.375	1
A 23 Gaglione, Joe 1	0	0 0		1.000	1 0 1 0	1 0		0	1.000	4 0 3 0	1.000	0 0	2.5	3	0.833	1
A 24 Mitchell, Sid 1	0	0 1	1 1	0.500	1 0	1 0		0	1.000	3 1	0.750	0 0	6.0	4	1.500	1
A 25 Mozzetti, Tim "Tex" 0	0	1 0	1 0	1.000	1 0	1 0		0	1.000	3 0	1.000	0 0	2.0	3	0.667	1
A 26 Seward, Mike 0 A 27 Stankevich, Scott 0	0	$ \begin{array}{ccc} 0 & 0 \\ 1 & 0 \end{array} $	0 0	0.500	$ \begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array} $	$ \begin{array}{ccc} 0 & 0 \\ 1 & 0 \end{array} $	-	0 0	1.000	$ \begin{array}{ccc} 0 & 0 \\ 2 & 1 \end{array} $		$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 2.0	03	 0.667	0
A3/ Triple D Bronze Balls 3	3	3 3	6 6	0.500	1 2	2 1		3	0.500	12 12	0.667	0 9	23.0	24	0.007	1
A 30 Parker, Charles 0	1	0 0	0 1	0.000	0 0			0	1.000	1 1	0.500	0 1	0.0	2	0.000	1
A 31 Lloyd, Billy 0	0	0 1	0 1	0.000	0 0	0 1	-	1	0.000	0 2	0.000	0 1	1.0	2	0.500	1
A 32 Reygers, Jeff 1	0	0 1	1 1	0.500	0 1	0 0		1	0.000	$ \begin{array}{ccc} 1 & 2 \\ 2 & 2 \end{array} $	0.333	0 1	2.5	3	0.833	1
A 33 Gaulthier, Kyle 0 A 34 Anderson, Ryan 0	1	$ \begin{array}{ccc} 1 & 0 \\ 0 & 1 \end{array} $	$ \begin{array}{ccc} 1 & 1 \\ 0 & 1 \end{array} $	0.500 0.000	$ \begin{array}{ccc} 1 & 0 \\ 0 & 0 \end{array} $	$ \begin{array}{ccc} 0 & 1 \\ 1 & 0 \end{array} $	-	1 0	0.500 1.000	$ \begin{array}{ccc} 2 & 2 \\ 1 & 1 \end{array} $	0.500 0.500	$ \begin{array}{ccc} 0 & 1 \\ 0 & 1 \end{array} $	5.0 3.0	4 2	1.250 1.500	1
A 35 Fischlein, Kris 0	0	1 0	1 0	1.000	0 1	0 0		1	0.000	1 1	0.500	0 1	2.0	2	1.000	1
A 36 Varnadoe, Matt 0	0	0 0	0 0		0 0	0 0		0		0 0		0 0	0.0	0		0
A 37 Keller, Tony 1 A 38 Persson, Kenny 0	0	$ \begin{array}{ccc} 1 & 0 \\ 0 & 0 \end{array} $	$ \begin{array}{cccc} 2 & 0 \\ 0 & 1 \end{array} $	1.000 0.000	$ \begin{array}{ccc} 0 & 1 \\ 0 & 1 \end{array} $	$ \begin{array}{ccc} 1 & 0 \\ 0 & 0 \end{array} $	1 0	1 1	0.500 0.000	$ \begin{array}{ccc} 3 & 1 \\ 0 & 2 \end{array} $	0.750 0.000	$ \begin{array}{ccc} 0 & 1 \\ 0 & 1 \end{array} $	2.5 3.5	4 2	0.625 1.750	1
A 38 Persson, Kenny 0 A 39 Wilcox, Randy 1	0	0 0		1.000		1 0		0	1.000		1.000		3.5	3	1.167	1
A4/ Lunatic Fringe 2	4	2 4	4 8	0.333	1 2	1 2		4	0.333	8 16	0.333	0 0	16.5	24	0.688	
A 40 Eason, Joel 0	0	0 1	0 1	0.000	0 1	0 1		2	0.000	0 3	0.000	0 0	3.5	3	1.167	1
A 41 Hall, Mike 0	0	0 1	0 1	0.000	1 0	1 0		0	1.000	2 1	0.667	0 0	2.5	3	0.833	1
A 42 Gelberg, Dave 1 A 43 Jeffreys, Lee 0	0 1	$ \begin{array}{ccc} 0 & 1 \\ 0 & 0 \end{array} $	$ 1 1 \\ 0 1 $	0.500 0.000	$ \begin{array}{ccc} 0 & 1 \\ 0 & 1 \end{array} $	$ \begin{array}{ccc} 0 & 1 \\ 0 & 0 \end{array} $		2	0.000 0.000	$ \begin{array}{ccc} 1 & 3 \\ 0 & 2 \end{array} $	0.250 0.000	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	1.0 0.0	4 2	0.250 0.000	1
A 44 Terry, Bob 1	0	1 0	2 0	1.000	1 0	1 0	-	0	1.000	4 0	1.000	0 0	3.5	4	0.875	1
A 45 Jeffcoat, Doug 0	0	0 0	0 0		0 0	0 0	0	0		0 0		0 0	0.0	0		0
A 46 Hamilton, Billy 0	1	0 0	0 1	0.000	0 0	0 1	0	1	0.000	0 2	0.000	0 0	1.0	2	0.500	1
A 47 Lane, Tim 0 A 48 Zawrotniak, Joe 0	1 0	$ \begin{array}{ccc} 0 & 1 \\ 0 & 0 \end{array} $	$ \begin{array}{ccc} 0 & 2 \\ 0 & 0 \end{array} $	0.000	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	$ \begin{array}{ccc} 0 & 1 \\ 0 & 0 \end{array} $		1 0	0.000	$ \begin{array}{ccc} 0 & 3 \\ 0 & 0 \end{array} $	0.000	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 0.0	3 0	0.000	1 0
A 49 Bakowski, Adam 0	1	1 0	1 1	0.500	0 1	0 0	0	1	0.000	1 2	0.333	0 0	5.0	3	1.667	1
A5/ Darty Minds 4	2	4 2	8 4	0.667	2 1	2 1		2	0.667	16 8	0.667	0 0	22.0	24	0.917	
A 50 Reitano, Sal 0	0	0 1	0 1	0.000	0 1	0 0	0	1	0.000	$ \begin{array}{ccc} 0 & 2 \\ 2 & 0 \end{array} $	0.000	0 0	3.0	2	1.500	1
A 51 Maccini, Billy 1 A 52 Jobe, C.J. 0	0 1	$ \begin{array}{ccc} 1 & 0 \\ 0 & 0 \end{array} $	$ \begin{array}{ccc} 2 & 0 \\ 0 & 1 \end{array} $	1.000 0.000	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	$ \begin{array}{ccc} 0 & 0 \\ 0 & 1 \end{array} $	-	0 1	0.000	$ \begin{array}{cccc} 2 & 0 \\ 0 & 2 \end{array} $	1.000 0.000	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	1.0 1.0	2 2	0.500 0.500	1
A 53 Foushee, Eugene 0	1	0 0	0 1	0.000	1 0	0 0		0	1.000	1 1	0.500	0 0	0.0	2	0.000	1
A 54 Foushee, Kevin 1	0	1 0	2 0	1.000	0 1	1 0	-	1	0.500	3 1	0.750	0 0	5.5	4	1.375	1
A 55 Carroll, John "JC" 1	0	1 0	$ \begin{array}{ccc} 2 & 0 \\ 0 & 0 \end{array} $	1.000	1 0	1 0		0	1.000	4 0	1.000	0 0	4.5	4 2	1.125	1
A 56 Krasnow, Dave 0 A 57 Stewart, Pete 1	0	$ \begin{array}{ccc} 0 & 0 \\ 0 & 1 \end{array} $	$ \begin{array}{ccc} 0 & 0 \\ 1 & 1 \end{array} $	0.500	$ \begin{array}{ccc} 1 & 0 \\ 1 & 0 \end{array} $	$ \begin{array}{ccc} 0 & 1 \\ 1 & 0 \end{array} $	-	1 0	0.500 1.000	$ \begin{array}{ccc} 1 & 1 \\ 3 & 1 \end{array} $	0.500 0.750	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	2.5 2.0	4	1.250 0.500	1
A 58 Hudson, Dallas 0	0	1 0	1 0	1.000	0 0	1 0		0	1.000	2 0	1.000	0 0	2.5	2	1.250	1
A6/ Monkey Business 3	3	3 3	6 6	0.500	2 1	1 2		3	0.500	12 12	0.500	7 0	25.0	24	1.042	
A 60 Bunn, Tim 0	1	$ \begin{array}{ccc} 1 & 0 \\ 1 & 0 \end{array} $	1 1	0.500	0 1	$ \begin{array}{ccc} 0 & 0 \\ 0 & 1 \end{array} $	0	1	0.000	1 2 2	0.333	$ \begin{array}{ccc} 1 & 0 \\ 1 & 0 \end{array} $	5.5	3	1.833	1
A 61 Gibbs, Keith 0 A 62 Wall, Keith 1	1 0	$ 1 0 \\ 0 1 $	1 1 1	0.500 0.500	$ \begin{array}{ccc} 1 & 0 \\ 1 & 0 \end{array} $			1 0	0.500 1.000	$ \begin{array}{ccc} 2 & 2 \\ 3 & 1 \end{array} $	0.500 0.750	1 0 1 0	3.0 5.5	4 4	0.750 1.375	1
A 63 Coe, Jason 1	0	1 0	2 0	1.000	1 0	0 1		1	0.500	3 1	0.750	1 0	3.0	4	0.750	1
A 64 Scott, Lee 0	0	0 1	0 1	0.000	0 0	1 0		0	1.000	1 1	0.500	1 0	0.0	2	0.000	1
A 65 McNamara, Tim 0 A 66 Bell, Mike 0	1 0	$ \begin{array}{ccc} 0 & 1 \\ 0 & 0 \end{array} $	$ \begin{array}{ccc} 0 & 2 \\ 0 & 0 \end{array} $	0.000	$ \begin{array}{ccc} 0 & 1 \\ 0 & 0 \end{array} $	$ \begin{array}{ccc} 0 & 1 \\ 0 & 0 \end{array} $		2 0	0.000	$ \begin{array}{ccc} 0 & 4 \\ 0 & 0 \end{array} $	0.000	$ \begin{array}{ccc} 1 & 0 \\ 0 & 0 \end{array} $	4.5 0.0	4 0	1.125	1 0
A 67 Kramer, Stephanie 0	0	0 0	0 0		0 0	0 0		0		0 0		0 0	0.0	0		0
A 68 Massengill, Randy 1	0	0 0	1 0	1.000	1 0	0 1	1	1	0.500	2 1	0.667	1 0	3.5	3	1.167	1
A7/ North Raleigh Alliance 1	5	1 5	2 10	0.167	0 3	0 3		6	0.000	2 22	0.083	0 0	22.5	24	0.938	
A 70 Huffman, David 1 A 71 Work, Joe 0	0 1	$ \begin{array}{ccc} 0 & 1 \\ 0 & 1 \end{array} $	$ \begin{array}{ccc} 1 & 1 \\ 0 & 2 \end{array} $	0.500 0.000	$ \begin{array}{ccc} 0 & 1 \\ 0 & 1 \end{array} $	$ \begin{array}{ccc} 0 & 1 \\ 0 & 0 \end{array} $		2 1	0.000 0.000	$ \begin{array}{ccc} 1 & 3 \\ 0 & 3 \end{array} $	0.250 0.000	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	2.5 2.0	4 3	0.625 0.667	1
A 72 Tanner, Dave 0	0	0 1		0.000	0 1	0 0		2	0.000	0 3	0.000	0 0	0.0	3	0.007	1
A 73 Kerr, Jim 0	1	0 0	0 1	0.000	0 1	0 1		2	0.000	0 3	0.000	0 0	3.0	3	1.000	1
A 74 Peele, Jim 0	0	0 0	0 0		0 0	0 0		0		0 0		0 0	0.0	0		0
A 75 Wilcenski, Steve 0 A 76 Spaulding, Paul 0	1 0	$ \begin{array}{ccc} 0 & 1 \\ 0 & 0 \end{array} $	$ \begin{array}{ccc} 0 & 2 \\ 0 & 0 \end{array} $	0.000	$ \begin{array}{ccc} 0 & 1 \\ 0 & 0 \end{array} $	$ \begin{array}{ccc} 0 & 1 \\ 0 & 0 \end{array} $		2 0	0.000	$ \begin{array}{ccc} 0 & 4 \\ 0 & 0 \end{array} $	0.000	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	5.5 0.0	4 0	1.375	1 0
A 77 Bumpass, Mike 0	1	0 1	0 2	0.000	0 0	0 1	0	1	0.000	0 3	0.000	0 0	4.5	3	1.500	1
A 78 White, Vic 0	1	1 0	1 1	0.500	0 1	0 1	-	2	0.000	1 3	0.250	0 0	5.0	4	1.250	1
A8/ Dartistic Pursuits 1	5	2 4	3 9	0.250	0 3	2 1		4	0.333	7 17	0.292	0 0	14.5	24	0.604	
A 80 Denton, Fon 0 A 81 Bennett, Will 0	1 1	$ \begin{array}{ccc} 0 & 0 \\ 1 & 0 \end{array} $	$ \begin{array}{ccc} 0 & 1 \\ 1 & 1 \end{array} $	0.000 0.500	$ \begin{array}{ccc} 0 & 1 \\ 0 & 1 \end{array} $	$ \begin{array}{ccc} 0 & 1 \\ 1 & 0 \end{array} $		2	0.000 0.500	$\begin{array}{ccc} 0 & 3 \\ 2 & 2 \end{array}$	0.000 0.500	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 3.5	3 4	0.000 0.875	1
A 81 Benneut, will 0 A 82 Healy, Simon 1	0	0 1	1 1	0.500				2	0.000		0.300	0 0	1.5	4	0.875	1
A 83 Zelinack, Jason 0	0	0 0	0 0		0 0	0 0	0	0		0 0		0 0	0.0	0		0
A 84 Beaudoin, Paul 0	1	$ 1 0 \\ 0 1 $	1 1 0 2	0.500	0 1	1 0	-	1	0.500	2 2	0.500	0 0	6.0	4	1.500	1
A 85 Bither, Dana 0 A 86 Merkle, Patrick 0	1 0	$ \begin{array}{ccc} 0 & 1 \\ 0 & 1 \end{array} $	$ \begin{array}{ccc} 0 & 2 \\ 0 & 1 \end{array} $	0.000 0.000	$ \begin{array}{ccc} 0 & 0 \\ 0 & 1 \end{array} $	$ \begin{array}{ccc} 0 & 0 \\ 1 & 0 \end{array} $		0 1	0.500	$ \begin{array}{ccc} 0 & 2 \\ 1 & 2 \end{array} $	0.000 0.333	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	1.5 0.0	2 3	0.750 0.000	1
A 87 Madey, Ryan 0	1	0 1	0 2	0.000	0 1	1 0	1	1	0.500	1 3	0.250	0 0	2.0	4	0.500	1

														-				Vs S		þ	t	
							Singles Win %-age	s		s		s		Doubles Win %-age	Sngls + Dbls		Sngls + Dbls Win %-age	Tiebreaker Ws Tiebreaker Ls		Games Played	All-Star Point Average	s
	Singles	1	Singles	Cricket	Singles	Record	Singles %-age	Doubles	Cricket	Doubles	1	Doubles	Record	Double %-age	gls +	Record	Sngls + Win %-	ebrea ebrea	All-Star Points	umes	All-Star I Average	Matches Played
B1/ Nine Lives	0 Sii	0 301	0 Sir	<u>С</u> 0	0 Sir	0 Re		0 DC	U 0	D D	0 501	0 Dc	o Re		o Sn	0 Re		Ë Ë 0 0		Ca 0		Må Pla
B 10 Romanchek, David	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
B 11 Smith, Butch	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
B 12 Copple, Matthew	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
B 13 Mays, John B 14 Marsden, James	0 0	0 0	0 0	0 0	0 0	0 0		0	0 0	0 0	0 0	0 0	0 0		0 0	0 0		$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$		0		0 0
B 14 Marsden, James B 15 Gibson, Jack	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
B 16 Keever, David	0	0	Ő	0	0	0		0	0	0	0	0	0		0	0		0 0		0 0		0
B 17 Porcelli, Robb	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
B 18 Piquet, David	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	-	0		0
B2/ Kiss My B 20 Phillips, Julie	2	4	3	3	5	7 0	0.417	2	1	1	2	3	3	0.500	11	13	0.458	0 0		24 4	0.625	1
B 20 Phillips, JulieB 21 Cotton, Barbara	0	1	1	1	2 0	2	0.000	0	0 0	0 0	1	0	1	0.300	3 0	1 3	0.730	0 0		4	0.000	1 1
B 22 Bathurst, Alyssa	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
B 23 Bathurst, Ryan	0	1	0	0	0	1	0.000	1	0	1	0	2	0	1.000	2	1	0.667	0 0	0.0	3	0.000	1
B 24 Watson, Jeff, Jr.	0	1	0	1	0	2	0.000	0	0	0	1	0	1	0.000	0	3	0.000	0 0		3	0.667	1
B 25 Taylor, Tisha	0	1	0	0	0	1	0.000	0	1	0	0	0	1	0.000	0	2	0.000	0 0		2	0.000	1
B 26 Ellis, E.J. B 27 Klann, Eric	0 0	0 0	0 1	1 0	0 1	1 0	$0.000 \\ 1.000$	0	$1 \\ 0$	0 0	0 1	0 1	1 1	0.000 0.500	0 2	2	0.000 0.667	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 4.5	2 3	0.000 1.500	1 1
B 28 Whitehead, Lee	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
B 29 Schmaus, Darren	1	0	1	0	2	0	1.000	1	0	1	0	2	0	1.000	4	0	1.000	0 0		4	1.000	1
B3/ Menace 2 Sobriety	2	4	2	4	4	8	0.333	2	1	0	3	2	4	0.333	8	16	0.333	0 0		24	0.479	
B 30 Johnson, Dave	0	0	1	0	1	0	1.000	1	0	0	1 1	1 0	1	0.500	2	1	0.667	0 0		3	1.000	1
B 31 Bouchard, Keith B 32 White, J.J.	0 0	1	1 0	0 1	1 0	1 2	0.500 0.000	0 0	1 1	0 0	1	0	2 2	0.000 0.000	1 0	3 4	0.250 0.000	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 1.0	4	0.000 0.250	1 1
B 33 Price, Brady	1	0	0	1	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0 0		4	0.230	1
B 34 McCartney, Eric	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
B 35 Polenz, Steve	0	1	0	1	0	2	0.000	1	0	0	1	1	1	0.500	1	3	0.250	0 0		4	0.750	1
B 36 Staley, Shawn	1	0	0	0	1	0	1.000	1	0	0	1	1	1	0.500	2	1	0.667	0 0		3	0.000	1
B 37 Patel, Sam B 38 Kareiva, Keith	0 0	1 0	0 0	1 0	0 0	2 0	0.000	0 0	0 0	0 0	0 0	0 0	0 0		0 0	2 0	0.000	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	1.0 0.0	2 0	0.500	1 0
B4/ Thursday's Still Suck	4	2	5	1	9	3	0.750	2	1	2	1	4	2	0.667	17	7	0.708	0 0	-	24	0.500	0
B 40 Jones, Jeff	1	0	0	0	1	0	1.000	0	0	1	0	1	0	1.000	2	0	1.000	0 0		2	0.500	1
B 41 Holland, Steve	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
B 42 Murdaugh, John	0	1	1	0	1	1	0.500	0	1	0	0	0	1	0.000	1	2	0.333	0 0		3	0.000	1
B 43 Sellers, Mark B 44 Rodgers, Trey	1	0 0	1	0 0	2 2	0 0	1.000 1.000	1	0 0	0 0	1 0	1	1 0	0.500 1.000	3 3	1 0	0.750 1.000	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$	5.0 2.5	4	1.250 0.833	1 1
B 45 Wells, John "Boy"	1	0	1	0	2	0	1.000	0	0	1	0	1	0	1.000	3	0	1.000	0 0		3	0.000	1
B 46 Ridenour, Ron	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
B 47 Crumpler, Greg	0	0	0	1	0	1	0.000	1	0	1	0	2	0	1.000	2	1	0.667	0 0	0.0	3	0.000	1
B 48 Venable, Mike	0	1	0	0	0	1	0.000	1	0	1	0	2	0	1.000	2	1	0.667	0 0		3	0.333	1
B 49 Bottomley, Kevin B5/ Shooter McGavin	0	0 4	1	0	1 3	0	1.000	0	1 2	0	1	0	2	0.000	1 7	2 17	0.333	0 0		3 24	0.833	1
B 50 Knott, Ronnie	0	1	1	0	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0 0		4	0.500	1
B 51 Knott, Ryan	1	0	0	1	1	1	0.500	1	0	0	0	1	0	1.000	2	1	0.667	0 0		3	0.333	1
B 52 Sautter, Don	1	0	0	0	1	0	1.000	0	1	1	0	1	1	0.500	2	1	0.667	0 0		3	0.000	1
B 53 Sautter, Scott	0	1	0	1	0	2	0.000	0 0	1 1	0 1	1	0	2	0.000	0	4 2	0.000	0 0		4	0.625	1
B 54 Schon, Chris B 55 Howard, Brian	0 0	0 1	0 0	1	0 0	1 2	0.000 0.000	1	$1 \\ 0$	1	0	1 1	1 1	0.500 0.500	1	2 3	0.333 0.250	0 0 0 0		3 4	0.333 0.250	1 1
B 56 Demler, John	0	1	0	1	0	2	0.000	0	0	0	1	0	1	0.000	0	3	0.000	0 0		3	0.000	1
B 57 Cusman, Ryan	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
B6/ Traveling Beer Bellies	4	2	4	2	8	4	0.667	1	2	3	0	4	2	0.667	16	8	0.667	0 0		24	0.479	
B 60 McCredie, Bob	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
B 61 Vance, Hugh B 62 Jimenez, Eduardo	0 1	0 0	0 0	0 1	0 1	0 1	0.500	0 0	0 1	0 1	0 0	0 1	0 1	 0.500	0 2	0 2	0.500	0 0 0 0		0 4	0.000	0 1
B 63 White, Steve	1	0	0	1	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0 0		4	0.000	1
B 64 O'Neal Chris	0	1	1	0	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0 0		4	0.750	1
B 65 Ehrmann, Rob	1	0	1	0	2	0	1.000	1	0	1	0	2	0	1.000	4	0	1.000	0 0		4	0.250	1
B 66 Dean, Jay	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0 0		4	1.125	1
B 67 Greninger, Frank B 68 Michaud, Jason	0 1	0 0	0 1	0 0	0 2	0 0	1.000	0 0	0 1	0 1	0 0	0 1	0 1	0.500	0 3	0 1	 0.750	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$		0 4	0.750	0
B7/ Diddle Diddle	4	2	3	3	7	5	0.583	1	2	2	1	3	3	0.500	13	11	0.542	0 0		24	0.396	-
B 70 McCartney, Joe	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0 0		4	0.750	1
B 71 Litzsinger, Mike	0	1	0	0	0	1	0.000	0	1	0	0	0	1	0.000	0	2	0.000	0 0		2	0.000	1
B 72 Snyder, Mike	0	0	0	1	0	1	0.000	0	1	1	0	1	1	0.500	1	2	0.333	0 0		3	0.667	1
B 73 Snyder, Gary B 74 Veith, Matt	0 1	0 0	0 1	0	0 2	0 0	1.000	0 0	0 0	1 0	0 1	1 0	0 1	1.000 0.000	1 2	0 1	1.000 0.667	$\begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array}$		1 3	0.000 0.333	1 1
B 75 Iager, John	1	0	1	0	2	0	1.000	0	1	0	0	0	1	0.000	2	1	0.667	0 0		3	0.333	1
B 76 Sheer, Andy	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
B 77 Winters, Tom	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0 0		4	0.250	1
B 78 Gallagher, Jim	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0 0	1.5	4	0.375	1

	Singles	301	Singles	Cricket	Singles	Record	Singles Win %-age	Doubles	Cricket	Doubles	501	Doubles	Record	Doubles Win %-age	Sngls + Dbls	Record	Sngls + Dbls Win %-age	Tiebreaker Ws Tiebreaker Ls	All-Star Points	Games Played	All-Star Point Average	Matches Played
C1/ The Bunkers	0	$\frac{\alpha}{0}$	0	0	0	0	S %	0	0	0	<u>5</u>	0	0		0	0	~~~	0 0	0.0	0	~ ~ 	~ 4
C 10 Hartmann, Erin	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
C 11 Hartmann, Pete	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
C 12 Krestalude, Andy	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
C 13 Cuevas, Louie	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
C 14 Martinez, Vince C 15 Holly, Mike	0 0	0 0	0 0	0 0	0 0	0 0		0 0	0 0	0 0	0 0	0 0	0 0		0 0	0 0		$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 0.0	0		0 0
C 16 Joyal, Paul	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
C2/ Rif Raf	1	5	3	3	4	8	0.333	3	0	2	1	5	1	0.833	14	10	0.583	0 0	10.0	24	0.417	Ŭ
C 20 Gaertner, Brian	0	1	0	0	0	1	0.000	1	0	1	0	2	0	1.000	2	1	0.667	0 0	1.0	3	0.333	1
C 21 St. Clair, Matt	1	0	0	0	1	0	1.000	1	0	1	0	2	0	1.000	3	0	1.000	0 0	0.0	3	0.000	1
C 22 Jur, Jess	0	1	1	0	1	1	0.500	1	0	0	0	1	0	1.000	2	1	0.667	0 0	3.5	3	1.167	1
C 23 Horger, Dennis	0	1	0	1	0	2	0.000	0	0	0	1	0	1	0.000	0	3	0.000	0 0	0.0	3	0.000	1
C 24 Martin, David C 25 Bradford, David	0 0	1 0	1 1	0 0	1 1	1 0	0.500 1.000	1	0 0	0 0	0	1 1	0 1	1.000 0.500	2 2	1 1	0.667 0.667	$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	1.0 1.0	3 3	0.333 0.333	1
C 26 Bohannon, Zack	0	1	0	1	0	2	0.000	0	0	1	0	1	0	1.000	1	2	0.333	0 0	2.5	3	0.833	1
C 27 Lemley, Andrew	0	0	0	1	0	1	0.000	1	0	1	0	2	0	1.000	2	1	0.667	0 0	1.0	3	0.333	1
C3/ DD 214	2	4	3	3	5	7	0.417	2	1	2	1	4	2	0.667	13	11	0.542	0 0	17.5	24	0.729	
C 30 Guenther, George	0	0	0	1	0	1	0.000	1	0	0	0	1	0	1.000	1	1	0.500	0 0	3.0	2	1.500	1
C 31 Gabry, Greg	0	1	0	1	0	2	0.000	0	0	1	0	1	0	1.000	1	2	0.333	0 0	2.5	3	0.833	1
C 32 Hunsberger, Jim	0	1	1	0	1	1	0.500	0	0	0	1	0	1	0.000	1	2	0.333	0 0	1.0	3	0.333	1
C 33 Preciado, Amanda "Stitche C 34 Long, Stephen	0 0	0 1	1 1	0 0	1 1	0 1	1.000 0.500	1 1	0 0	0 1	1 0	1 2	1 0	0.500 1.000	2 3	1 1	0.667 0.750	$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	3.5 1.0	3 4	1.167 0.250	1
C 34 Long, stephen C 35 Brody, Kevin	0	0	0	0	0	0	0.300	0	0	0	0	0	0		0	0	0.750	0 0	0.0	4	0.230	0
C 36 Fournier, Jeff	1	0	0	1	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0 0	3.5	4	0.875	1
C 37 Klein, Norm	1	0	0	0	1	0	1.000	0	1	0	0	0	1	0.000	1	1	0.500	0 0	3.0	2	1.500	1
C 38 Thomas, Joe	0	1	0	0	0	1	0.000	1	0	1	0	2	0	1.000	2	1	0.667	0 0	0.0	3	0.000	1
C 39 Owen, Hal	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
C4/ One Armed Bandits	3	3	4	2	7	5	0.583	1	2	2	1	3	3	0.500	13	11	0.542	0 0	11.0	24	0.458	
C 40 Kiser, Lyman	0	1	0	0	0	1	0.000	0	1	0	1	0	2	0.000	0	3	0.000	0 0	1.5	3	0.500	1
C 41 Richardson, Shane C 42 White, Jim	0 1	0 0	0 1	0 0	0 2	0 0	1.000	0 0	0 1	0 0	0 0	0 0	0 1	0.000	0 2	0 1	 0.667	$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 1.0	03	0.333	0
C 43 Caldwell, Greg	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0 0	2.5	4	0.625	1
C 44 Hansen, Josh	0	0	0	1	0	1	0.000	0	0	0	1	0	1	0.000	0	2	0.000	0 0	0.0	2	0.000	1
C 45 Lewis, Dave	0	1	1	0	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0 0	0.0	4	0.000	1
C 46 Murphy, Phil	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	0 0	5.0	4	1.250	1
C 47 Trefzger, Ken	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0 0	1.0	4	0.250	1
C5/ Big Bulls C 50 Reinert, Kevin	3	3	2	4	5	7	0.417	2	1	1	2 0	3	3	0.500	11 2	13 2	0.458	$ \begin{array}{ccc} 0 & 0 \\ 0 & 0 \end{array} $	5.5 0.0	24 4	0.229	1
C 50 Fitzgerald, Dennis	0	0	0	0	0	0	0.500	0	0	0	0	0	0	0.500	0	0	0.500	0 0	0.0	0	0.000	0
C 52 Talton, Chris	1	1	Ő	1	1	2	0.333	Ő	1	1	1	1	2	0.333	2	4	0.333	0 0	0.0	6	0.000	1
C 53 McWhorter, Mike	0	1	1	0	1	1	0.500	2	0	0	1	2	1	0.667	3	2	0.600	0 0	4.0	5	0.800	1
C 54 Church, Art	0	1	0	2	0	3	0.000	1	0	0	1	1	1	0.500	1	4	0.200	0 0	0.0	5	0.000	1
C 55 Toolan, Chris	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
C 56 Womble, Kenny C 57 Barboza, Alfredo	0 0	0 0	0 0	0 0	0 0	0 0		0 0	0 0	0 0	0 0	0 0	0 0		0 0	0 0		$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 0.0	0 0		0
C 57 Barboza, Amedo C 58 Irby, Jason	1	0	1	0	2	0	1.000	1	0	0	1	1	1	 0.500	3	1	 0.750	0 0	1.5	4	0.375	1
C6/ We Be Trippin'	4	2	3	3	7	5	0.583	1	2	1	2	2	4	0.333	11	13	0.458	0 0	14.0	24	0.583	<u> </u>
C 60 Stephenson, Scott	0	1	0	0	0	1	0.000	0	1	0	0	0	1	0.000	0	2	0.000	0 0	1.0	2	0.500	1
C 61 Fisher, Jessie	0	1	0	1	0	2	0.000	0	0	0	1	0	1	0.000	0	3	0.000	0 0	0.0	3	0.000	1
C 62 Citrak, Sheldon	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
C 63 Strickland, Cale	1	0	0	1	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	1.0	4	0.250	1
C 64 Collins, Craig C 65 Bradshaw, Rick	1 0	0 0	1 0	0 0	2 0	0 0	1.000	1 0	0 0	1 0	0 0	2 0	0 0	1.000	4 0	0 0	1.000	$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	6.0 0.0	4 0	1.500	1 0
C 65 Bradsnaw, Kick C 66 Wilson, Chris	1	0	1	0	2	0	1.000	0	1	0	1	0	2	0.000	2	2	0.500	0 0	4.5	4	1.125	0
C 67 Stallings, Joe	0	0	1	0	1	0	1.000	0	1	0	1	0	2	0.000	1	2	0.333	0 0	0.0	3	0.000	1
C 68 Stewart, Colleen	1	0	0	0	1	0	1.000	1	0	0	1	1	1	0.500	2	1	0.667	0 0	1.5	3	0.500	1
C 69 Loftin, Ryan	0	0	0	1	0	1	0.000	0	0	0	0	0	0		0	1	0.000	0 0	0.0	1	0.000	1
C7/ Pat's Blue Ribbon	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		
C 70 Cashin, Jeff	0	0	0	0 0	0 0	0 0		0	0	0	0 0	0 0	0 0		0	0		$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	0.0	0 0		0
C 71 Adams, Brad C 72 Theleman, Dave	0 0	0 0	0 0	0	0	0		0 0	0 0	0 0	0	0	0		0 0	0 0		$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 0.0	0		0
C 72 Theieman, Dave C 73 Stuckey, Rob	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
C 74 Palmisano, Andrew	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
C 75 Champion, Steve	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
C 76 Nourse, Andy	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
C 77 Bartell, B.J.	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
C 78 Landrum, Jon	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0

							/in							Win	Dbls		bls ge	er Ws	sr Ls		ayed	oint	
	Singles	301	Singles	Cricket	Singles	Record	Singles Win %-age	Doubles	Cricket	Doubles	501	Doubles	Record	Doubles Win %-age	Sngls + D	Record	Sngls + Dbls Win %-age	Tiebreaker Ws	Tiebreaker Ls	All-Star Points	Games Played	All-Star Point Average	Matches Played
D1/ Garage Inc.	0	<u>0</u>	0	0	0	0	~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	0	0	<u>п</u> 0	<u>5</u>	0	0		0	0	~~~	D 0	0 0	0.0	0		Z d
D 10 Long, Gary	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 11 Gardner, Mike	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 12 Knight, Tim	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 13 Ellington, Dave	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 14 Gilyardi, Ernie	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 15 Morin, Deane "Dino"	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 16 Williams, Denny	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 17 Ellington, Jake	0	0 0	0	0 0	0 0	0 0		0	0 0	0 0	0 0	0 0	0 0		0 0	0 0		0 0	0 0	0.0 0.0	0 0		0
D 18 Reece, Robert D2/ Stick a Cork In It!	4	2	3	3	7	5	0.583	2	1	1	2	3	3	0.500	13	11	0.542	0	0	9.0	24	0.375	0
D 20 Jeffcoat, Angela	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	13	3	0.250	0	0	1.5	4	0.375	1
D 21 Bass, Joe	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	0.0	4	0.000	1
D 22 Grubb, Ed	1	0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.750	0	0	4.0	4	1.000	1
D 23 Fleener, Michael	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 24 Alvord, David	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	1.0	4	0.250	1
D 25 Hamilton, Dawn	0	1	1	0	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	0	0.0	4	0.000	1
D 26 Yang, Rob	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 27 Ackerman, Travis	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	2.5	4	0.625	1
D3/ Cheap Shots D 30 Buckman, David	1	5	0	6	1 0	11 2	0.083	0	3	0	3	0	6	0.000	1	23 4	0.042	0	0	5.0	24 4	0.208	1
D 30 Buckman, David D 31 Burney, Gary	0	1	0	1 0	0	2	0.000	0	1	0	1	0	2	$0.000 \\ 0.000$	0 0	4	0.000	0	0	1.0	4	0.250	1
D 31 Burney, Gary D 32 Hindle, Mikey	0	1	0	1	0	2	0.000	0	1	0	0	0	1	0.000	0	3	0.000	0	0	1.0	3	0.300	1
D 33 Hall, Josh	1	0	0	1	1	1	0.500	0	1	0	Ő	0	1	0.000	1	2	0.333	0	0	0.0	3	0.000	1
D 34 James, Bob	0	0	0	1	0	1	0.000	0	1	0	1	0	2	0.000	0	3	0.000	0	0	0.0	3	0.000	1
D 35 Witz, Steve	0	1	0	0	0	1	0.000	0	1	0	1	0	2	0.000	0	3	0.000	0	0	1.5	3	0.500	1
D 36 Murdock, Jim	0	1	0	1	0	2	0.000	0	0	0	1	0	1	0.000	0	3	0.000	0	0	0.0	3	0.000	1
D 37 Herman, Fritz	0	0	0	1	0	1	0.000	0	0	0	1	0	1	0.000	0	2	0.000	0	0	0.0	2	0.000	1
D4/ Projectile Dysfunction	3	3	3	3	6	6	0.500	0	3	3	0	3	3	0.500	12	12	0.500	6	0	12.0	24	0.500	
D 40 Smith, Brian	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 41 Tant, J.J. D 42 Stanna Milta	0	1 0	1	0 0	1	1	0.500	0	1	1	0 0	1	1	0.500	2	2 1	0.500	1	0	1.5	4 4	0.375	1
D 42 Steppe, Mike D 43 Raymond, Ryan	1	1	1 0	0	2 0	0 2	1.000 0.000	0 0	1	1	0	1	1	0.500 0.500	3 1	3	0.750 0.250	1 1	0 0	4.0 0.0	4	0.000	1
D 43 Raymond, Ryan D 44 Talley, Gray	0	1	0	1	0	2	0.000	0	1	1	0	1	1	0.500	1	3	0.250	1	0	0.0	4	0.000	1
D 45 Clark, Dan	1	0	0	1	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	1	0	3.0	4	0.750	1
D 46 Peterson, Chris	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	1	0	3.5	4	0.875	1
D5/ Hump Day!	3	3	3	3	6	6	0.500	3	0	0	3	3	3	0.500	12	12	0.500	0	6	19.5	24	0.813	
D 50 Rutten, Pete	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 51 Deemer, Randy	1	0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.750	0	1	8.0	4	2.000	1
D 52 Baldwin, Randy	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 53 Todd, Patrick	0	1	1	0	1	1	0.500	1	0	0	0	1	0	1.000	2	1	0.667	0	1	4.0	3	1.333	1
D 54 Bush, Jim D 55 Warshawsky, Larry	1 0	0 1	0 0	0 1	1 0	0 2	1.000 0.000	1 0	0 0	0 0	1 1	1 0	1	0.500 0.000	2 0	1 3	0.667 0.000	0 0	1 0	0.0 0.0	3 3	0.000 0.000	1
D 55 Warshawsky, Larry D 56 Ferguson, Travis	0	0	1	0	1	0	1.000	1	0	0	1	1	1	0.500	2	1	0.667	0	1	5.5	3	1.833	1
D 57 Moore, Mark	0	1	0	1	0	2	0.000	1	0	0	1	1	1	0.500	1	3	0.250	0	1	1.0	4	0.250	1
D 58 McEwen, William	1	0	0	1	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	1	1.0	4	0.250	1
D 59 Janssen, Joshua	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D6/ Inglourious Darters	5	1	6	0	11	1	0.917	3	0	3	0	6	0	1.000	23	1	0.958	0	0	17.0	24	0.708	
D 60 Blackwelder, Deborah	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 61 Limerick, Jeremy	1	0	1	0	2	0	1.000	1	0	1	0	2	0	1.000	4	0	1.000	0	0	4.0	4	1.000	1
D 62 Kilsdonk, Kris	1	0	1	0	2	0	1.000	1	0	2	0	3	0	1.000	5	0	1.000	0	0	2.5	5	0.500	1
D 63 Surber, Dave	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 64 Balint, Joey D 65 Cefola, Anthony	1 0	1 0	1 0	0 0	2 0	1 0	0.667	1 0	0 0	1 0	0 0	2 0	0 0	1.000	4 0	1 0	0.800	0 0	0 0	5.5 0.0	5 0	1.100	1 0
D 65 Cerola, Anthony D 66 Gardner, Kenn	1	0	2	0	3	0	1.000	2	0	1	0	3	0	1.000	6	0	1.000	0	0	0.0 4.0	6	0.667	1
D 67 Cosentino, Phil	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	4.0 0.0	0	0.007	0
D 68 Ridgeway, Matt	1	0	1	0	2	0	1.000	1	0	1	0	2	0	1.000	4	0	1.000	0	0	1.0	4	0.250	1
D7/ WINNAU	2	4	3	3	5	7	0.417	1	2	2	1	3	3	0.500	11	13	0.458	0	0	8.5	24	0.354	
D 70 Kubel, Nicole	1	0	0	1	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0	0	2.5	4	0.625	1
D 71 Kubel, Tom "Q"	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	0	0	1.5	4	0.375	1
D 72 Roberts, Mike	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	1.0	4	0.250	1
D 73 Cruze, Michael	0	1	0	1	0	2	0.000	1	0	1	0	2	0	1.000	2	2	0.500	0	0	1.5	4	0.375	1
D 74 Tufillaro, Lou	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 75 Azevedo, Angelo	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 76 Lawler, Rob D 77 Lueneburg, Randy	0 0	0 1	0 0	0 1	0 0	0 2	0.000	0 0	0 1	0 0	0 1	0 0	0 2	0.000	0 0	0 4	0.000	0 0	0 0	0.0 2.0	0 4	0.500	0
D 77 Lueneburg, Randy D 78 Connell, Jamie	0	1	1	$1 \\ 0$	1	2	0.000	0	1 1	0	1 1	0	2	0.000	1	4	0.000	0	0	2.0 0.0	4	0.500	1
D 70 Connen, Janne	U	1	1	v	1	1	0.500	v	1	v	1	U	4	0.000	1	5	0.430	U	U	0.0	т	0.000	1

														e	~		50	Ws	S		ed	nt	
	10		0	t	10	_	Singles Win %-age	Se	t	SS		S	_	Doubles Win %-age	+ Dbls	_	Sngls + Dbls Win %-age	Tiebreaker Ws	Tiebreaker Ls	IL	Games Played	All-Star Point Average	S
	Singles	301	Singles	Cricket	Singles	Record	ngles -age	Doubles	Cricket	Doubles	501	Doubles	Record	Double %-age	Sngls ⊦	Record	⊦slgr 'in %	ebrea	ebrea	All-Star Points	ames	All-Star I Average	Matches Played
E1/ Double In, Stumble Out	0 Si	030	Si 0	Ū 0	<u>.</u>	0	Si %	Ď 0	Ū 0	Ŭ 0	0 50	<u>D</u> 0	0	0 %	0 Sr	0 8	R N	Ц 0	E 0	0.0	<u> </u>	۲ ۲ ۲	M
E 10 Simpson, Aden	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 11 Simpson, David	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 12 Simpson, Tyler	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 13 Macias, Anthony	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 14 Thompson, Barry E 15 Sarantos, Alex	0 0	0 0	0	0 0	0 0	0 0		0	0 0	0 0	0 0	0 0	0 0		0	0 0		0 0	$\begin{array}{c} 0\\ 0\end{array}$	0.0 0.0	0 0		0
E 15 Satanos, Alex E2/ Red-eye Rangers	2	4	3	3	5	7	0.417	2	1	1	2	3	3	0.500	11	13	0.458	0	0	10.5	24	0.438	0
E 20 Kunesh, Joe	0	1	0	1	0	2	0.000	0	1	0	1	0	2	0.000	0	4	0.000	0	0	0.0	4	0.000	1
E 21 Rouse, Chuck	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 22 Wilkinson, Charlie	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 23 Mitchell, Bill	0	1	0	1	0	2	0.000	1	0	0	1	1	1	0.500	1	3	0.250	0	0	0.0	4	0.000	1
E 24 Kirkpatrick, Scott	1	0	1	0	2 0	0 2	1.000	1	0	1 1	0 0	2 2	0	1.000	4 2	0 2	1.000	0	0 0	2.0	4 4	0.500	1
E 25 Raper, Jeromie E 26 Hall, Steve	0	1	0 0	1 0	0	0	0.000	0	0 0	0	0	0	0 0	1.000	0	$\frac{2}{0}$	0.500	0 0	0	0.0 0.0	4	0.000	0
E 20 Millican, Craig	0	1	1	0	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	0.0	4	0.000	1
E 28 Jones, Grey	1	0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.750	0	0	8.5	4	2.125	1
E 29 Barnes, Will	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E3/ Sharky's Machine	4	2	2	4	6	6	0.500	1	2	2	1	3	3	0.500	12	12	0.500	8	0	13.5	24	0.563	
E 30 Fink, Scott	0	1	0	0	0	1	0.000	1	0	0	1	1	1	0.500	1	2	0.333	1	0	2.0	3	0.667	1
E 31 Allison, Frank E 32 Bateman, Jimmy	1 0	0 1	0 0	1	1 0	1 2	0.500 0.000	0 0	0 1	1 0	0 0	1 0	0	$1.000 \\ 0.000$	2 0	1 3	0.667 0.000	1 1	0 0	3.0 1.0	3 3	1.000 0.333	1
E 32 Bateman, Jimmy E 33 Borgia, Pete	1	1	0	1 0	1	2	1.000	1	1 0	0	1	1	1	0.000	2	3 1	0.000	1	0	1.0	3	0.333	1
E 34 Barrett, Darren	1	0	0	1	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	1	0	2.0	4	0.500	1
E 35 Schaefer, Dan	0	0	0	1	0	1	0.000	0	0	0	0	0	0		0	1	0.000	1	0	0.0	1	0.000	1
E 36 Kruger, Lonny	0	0	1	0	1	0	1.000	0	1	1	0	1	1	0.500	2	1	0.667	1	0	1.0	3	0.333	1
E 37 Fuller, Geoff	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 38 Schaefer, John	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	1	0	3.5	4	0.875	1
E4/ Game of Throws	4	2	4	2	8	4	0.667	2	1	1	2	3	3	0.500	14	10	0.583	0	0	7.5	24	0.313	1
E 40 Bordeau, Eric E 41 Montesi, Chris	0	1	0	0 1	0 1	1 1	0.000 0.500	1 1	0 0	0 0	0 1	1 1	0 1	1.000 0.500	1 2	1 2	0.500 0.500	0 0	0 0	1.5 1.0	2 4	0.750 0.250	1 1
E 41 Montesi, Chris E 42 Rudy, Jeff	1	0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.300	0	0	2.0	4	0.230	1
E 43 Smelik, Gene	1	0	1	0	2	0	1.000	0	1	0	0	0	1	0.000	2	1	0.667	0	0	0.0	3	0.000	1
E 44 Smelik, Pat	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	0	0	1.0	4	0.250	1
E 45 Jessup, Pete	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 46 Reigher, Marty	0	0	0	1	0	1	0.000	0	0	0	1	0	1	0.000	0	2	0.000	0	0	2.0	2	1.000	1
E 47 Crespo, Steve	0	0	1	0	1	0	1.000	0	0	1	0	1	0	1.000	2	0	1.000	0	0	0.0	2	0.000	1
E 48 Johnson, Steve E 49 Bader, Dewan	0 0	0	0	$\begin{array}{c} 0\\ 0\end{array}$	0 0	0 1	0.000	0	0 0	0 0	0	0 1	0	0.500	0	0 2	0.333	0 0	$\begin{array}{c} 0 \\ 0 \end{array}$	0.0 0.0	0 3	0.000	0
E 49 Bader, Dewall E5/ Death Throw	2	4	2	4	4	8	0.333	1	2	2	1	3	3	0.500	10	14	0.417	0	0	7.5	24	0.313	1
E 50 Willis, Tolson	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	1.0	4	0.250	1
E 51 Hogan, Neal	0	1	0	2	0	3	0.000	0	2	1	0	1	2	0.333	1	5	0.167	0	0	4.0	6	0.667	1
E 52 Zimmerman, Mike	0	2	0	1	0	3	0.000	0	1	1	1	1	2	0.333	1	5	0.167	0	0	0.0	6	0.000	1
E 53 Bosier, Sean	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	1.5	4	0.375	1
E 54 Thompson, Ben E 55 Mathews, Alex	0 0	$\begin{array}{c} 0 \\ 0 \end{array}$	0 0	0 0	0 0	0 0		0 0	0 0	0 0	0 0	0 0	0 0		0	0 0		0 0	0 0	0.0 0.0	0 0		0
E 55 Mathews, Alex E 56 Mathews, Dave	1	0	1	0	2	0	1.000	0	1	0	1	0	2	0.000	2	2	0.500	0	0	1.0	4	0.250	1
E 57 Willis, Zack	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 58 Knight, Rob	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E6/ Shark Shooters	2	4	4	2	6	6	0.500	2	1	1	2	3	3	0.500	12	12	0.500	0	8	11.5	24	0.479	
E 60 Stacy, Michelle	0	1	0	0	0	1	0.000	0	0	0	0	0	0		0	1	0.000	0	0	0.0	1	0.000	1
E 61 Stacy, Rod	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 62 Mitchell, Liz E 63 Munroe, Joe	1 0	0 1	0 1	1 0	1 1	1 1	0.500 0.500	0 1	0 0	1 0	0 1	1 1	0 1	1.000 0.500	2 2	1 2	0.667 0.500	0 0	1 1	1.5 2.5	3 4	0.500 0.625	1 1
E 65 Mullide, Joe E 64 Mercer, Dave	0	1	0	0	0	1	0.000	0	1	0	0	0	1	0.300	0	2	0.300	0	1	2.3 0.0	4	0.023	1
E 65 Schmitt, Jacquie	0	1	0	0	0	1	0.000	0	0	0	1	0	1	0.000	0	2	0.000	0	1	0.0	2	0.000	1
E 66 Weimers, Drew	0	0	0	1	0	1	0.000	1	0	0	0	1	0	1.000	1	1	0.500	0	1	0.0	2	0.000	1
E 67 Neff, Josh	0	0	1	0	1	0	1.000	1	0	0	1	1	1	0.500	2	1	0.667	0	1	0.0	3	0.000	1
E 68 Taylor, Eric	0	0	1	0	1	0	1.000	0	1	0	1	0	2	0.000	1	2	0.333	0	1	3.5	3	1.167	1
E 69 Bowman, Merrill	1	0	1	0	2	0	1.000	1	0	1	0	2	0	1.000	4	0	1.000	0	1	4.0	4	1.000	1
E7/ Coral Reefers E 70 Jarvah, Sean	4	$\frac{2}{0}$	3	3	7	5	0.583	1	2	2	1 0	3	3	0.500	13 0	11 0	0.542	0	0	10.5 0.0	24 0	0.438	0
E 70 Jarvan, Sean E 71 Carroll, Joshua	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 72 Patskoski, Jason	1	0	1	0	2	0	1.000	1	0	1	1	2	1	0.667	4	1	0.800	0	0	2.0	5	0.400	1
E 73 Smith, Van	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 74 Roseman, Sean	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 75 Britt, Jake	0	2	0	1	0	3	0.000	1	0	1	0	2	0	1.000	2	3	0.400	0	0	3.0	5	0.600	1
E 76 Cullen, Pat	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	0.0	4	0.000	1
E 77 Colton, Mitch E 78 Thorne, Marshall	1	0 0	1	1 0	2 2	1 0	0.667 1.000	0 0	2	1	0 0	1	2	0.333 0.500	3	3 1	0.500 0.750	0 0	0 0	3.5 2.0	6 4	0.583 0.500	1
E 78 Thorne, Marshall	1	U	1	U	7	U	1.000	U	1	1	U	1	1	0.300	3	1	0.730	0	υ	∠.U	4	0.300	1

			<u> </u>											_				/s	s		q	t	1
					l		Singles Win %-age			ł				Doubles Win %-age	Sngls + Dbls		Sngls + Dbls Win %-age	Tiebreaker Ws	Tiebreaker Ls		Games Played	All-Star Point Average	
	es		es	cet	es	rd	les V se	oles	cet	oles		Doubles	rd	oles çe	1+2	rd	s + I %-a	reak	reak	All-Star Points	es P	All-Star F Average	Matches Played
	Singles	301	Singles	Cricket	Singles	Record	ingl 6-ag	Doubles	Cricket	Doubles	501	Jout	Record	Double %-age	ingl	Record	ingl: Vin	lebi	leb	All-Sta Points	jam	All-S Aver	Aatc Jaye
F1/ Sofa Kings	0	<u>m</u>	0	0	0	0		0	0	0	0	0	0		0	0	S 1	Г 0	0	0.0	0	7	~ 4
F 10 Moore, Ken	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 11 Alcon, Tony	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 12 Groves, Phil	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 13 Bozza, Doug	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 14 Keim, Roger	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 15 Plotkin, Jeremy F 16 Blake, Terry	0	0 0	0	0 0	0 0	0 0		0 0	0 0	0 0	0 0	0 0	0 0		0 0	0 0		0 0	0 0	0.0 0.0	0 0		0
F2/ Philthy Coaching	3	3	0	6	3	9	0.250	2	1	3	0	5	1	0.833	13	11	0.542	0	0	8.0	24	0.333	0
F 20 Emerton, Eric	0	0	0	1	0	1	0.000	1	0	1	0	2	0	1.000	2	1	0.667	0	0	0.0	3	0.000	1
F 21 Barletta, Phil	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 22 Woodard, Dave	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	1.5	4	0.375	1
F 23 Ejlali, Shervin	0	1	0	1	0	2	0.000	0	0	1	0	1	0	1.000	1	2	0.333	0	0	1.0	3	0.333	1
F 24 Martin, Claude	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 25 McMillan, Bill	0	1	0	1	0	2 1	0.000	1	0	0	0 0	1 1	0	1.000	1	2 2	0.333	0	0 0	1.5	3 3	0.500	1
F 26 Hamer, Andrew F 27 Scott, Kevin	1	1	0	0 1	0 1	1	0.000 0.500	0	1	1	0	1	1	0.500 0.500	2	2	0.333 0.500	0 0	0	2.0 0.0	3 4	0.667 0.000	1
F 28 Turner, Kevin	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	2.0	4	0.500	1
F 29 Gilbert, Geoff	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F3/ Don't Hit The Scorekeeper	2	4	4	2	6	6	0.500	3	0	2	1	5	1	0.833	16	8	0.667	0	0	18.0	24	0.750	
F 30 Knight, Romuald	1	0	0	1	1	1	0.500	1	0	0	0	1	0	1.000	2	1	0.667	0	0	3.5	3	1.167	1
F 31 Bohn, Andy	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 32 Smith, Ron "Captain"	0	1	0	1	0	2	0.000	0	0	0	1	0	1	0.000	0	3	0.000	0	0	0.0	3	0.000	1
F 33 Vick, Justin F 34 Shearin, Phillip	1	0 0	1	0 0	2 1	0 0	1.000 1.000	1	0 0	0	1 0	1 2	1 0	0.500 1.000	3 3	1 0	0.750 1.000	0	0 0	3.0 2.5	4 3	0.750 0.833	1
F 34 Shearin, Phillip F 35 Nettesheim, Doug	0	1	0	0	0	1	0.000	1	0	1	0	2	0	1.000	2	1	0.667	0 0	0	2.3	3	0.833	1
F 36 Robertson, Chris	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	4.0	4	1.000	1
F 37 Adams, Doug	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	3.0	4	0.750	1
F4/ Show Me Your Tips	4	2	2	4	6	6	0.500	2	1	3	0	5	1	0.833	16	8	0.667	0	0	13.5	24	0.563	
F 40 Powell, Lee	1	0	1	0	2	0	1.000	1	0	1	0	2	0	1.000	4	0	1.000	0	0	3.5	4	0.875	1
F 41 Bushman, Brad	1	0	1	0	2	0	1.000	1	0	1	0	2	0	1.000	4	0	1.000	0	0	3.5	4	0.875	1
F 42 Bialaszewski, Rich F 43 Lane, Bob	1	0 0	0	1	1	1 0	0.500	1	0	1	0	2 0	0 0	1.000	3	1	0.750	0	0	2.0	4	0.500	1
F 43 Lane, Bob F 44 Fournier, Chris	0	0	00	0 0	0 0	0		0	0 0	0 0	0 0	0	0		0 0	0 0		0 0	0 0	0.0 0.0	0 0		0
F 45 Raquet, Mike	0	1	0	1	0	2	0.000	1	1	2	0	3	1	0.750	3	3	0.500	0	0	4.5	6	0.750	1
F 46 Murphy, Tom	1	1	0	2	1	3	0.250	0	1	1	0	1	1	0.500	2	4	0.333	Õ	0	0.0	6	0.000	1
F5/ Bulls Up	2	4	4	2	6	6	0.500	1	2	0	3	1	5	0.167	8	16	0.333	0	0	11.0	24	0.458	
F 50 Butterworth, Dan	0	0	1	0	1	0	1.000	0	1	0	1	0	2	0.000	1	2	0.333	0	0	1.0	3	0.333	1
F 51 Butterworth, Jim	0	1	1	0	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	0	3.0	4	0.750	1
F 52 Frederick, Karl	1	0	1	0	2	0	1.000	0	1	0	1	0	2	0.000	2	2	0.500	0	0	1.0	4	0.250	1
F 53 Block, Marc F 54 O'Toole, Mike	0	1	0	0 0	0 1	1	0.000 0.500	0 0	0 1	0 0	0 0	0 0	0 1	0.000	0	1 2	0.000 0.333	0 0	0 0	0.0 1.0	1 3	0.000 0.333	1
F 55 Graves, Julie	0	1	0	1	0	2	0.000	0	0	0	1	0	1	0.000	0	3	0.333	0	0	2.0	3	0.333	1
F 56 Sessoms, DeWayne	1	0	0	0	1	0	1.000	1	0	0	1	1	1	0.500	2	1	0.667	0	0	2.0	3	0.667	1
F 57 Arnold, Jimmy	0	0	0	1	0	1	0.000	0	1	0	1	0	2	0.000	0	3	0.000	0	0	1.0	3	0.333	1
F6/ Walking That Wire	4	2	2	4	6	6	0.500	0	3	1	2	1	5	0.167	8	16	0.333	0	0	5.5	24	0.229	
F 60 Bowen, Andy	1	0	1	0	2	0	1.000	0	1	0	1	0	2	0.000	2	2	0.500	0	0	2.5	4	0.625	1
F 61 White, John	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	1.0	4	0.250	1
F 62 Prosser, Brad F 63 Wissinger, Wes	0	0 0	1 0	0 0	1	0 0	1.000 1.000	0 0	1	0	0 0	0	1 1	0.000	1	1	0.500 0.667	0	0 0	1.0 0.0	2 3	0.500 0.000	1
F 63 Wissinger, Wes F 64 Kyle, Mike	1	0	0	0	1	0	1.000	0	1 0	1 0	0	1 0	1 0	0.500	2 0	1 0	0.66/	0 0	0	0.0	0	0.000	0
F 65 Williams, Kelsey	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 66 Ferri, Chris	1	0	0	0	1	0	1.000	0	1	0	0	0	1	0.000	1	1	0.500	0	0	0.0	2	0.000	1
F 67 Stark, Parker	0	1	0	1	0	2	0.000	0	0	1	0	1	0	1.000	1	2	0.333	0	0	0.0	3	0.000	1
F 68 Port, Brian	0	0	0	1	0	1	0.000	0	0	0	1	0	1	0.000	0	2	0.000	0	0	0.0	2	0.000	1
F 69 Strickland, Jon	0	1	0	1	0	2	0.000	0	1	0	1	0	2	0.000	0	4	0.000	0	0	1.0	4	0.250	1
F7/ Why So Serious?	3	3	6	0	9	3	0.750	1	2	0	3	1	5	0.167	11	13	0.458	0	0	5.5	24	0.229	1
F 70 Cannizzaro, Anthony F 71 Havens, Lincoln	0	1 1	1	0 0	1 0	1 1	0.500 0.000	1	0 1	0 0	1 1	1 0	1 2	0.500 0.000	2 0	2 3	0.500 0.000	0 0	0 0	2.0 0.0	4 3	0.500 0.000	1
F 71 Havens, Lincoln F 72 Leonard, Bill	0	1	0	0	1	1 0	1.000	0	1	0	1	0	2	0.000	0	3 2	0.000	0	0	0.0	3	0.000	1
F 72 Leonard, Bill F 73 Havens, Matt	1	0	1	0	2	0	1.000	0	1	0	0	0	1	0.000	2	1	0.333	0	0	1.5	3	0.000	1
F 74 Triggiano, Andrew	0	1	1	0	1	1	0.500	0	0	0	1	0	1	0.000	1	2	0.333	0	0	0.0	3	0.000	1
22	0																						1.
F 75 Cannizzaro, Tyler	1	0	1	0	2	0	1.000	0	1	0	1	0	2	0.000	2	2	0.500	0	0	2.0	4	0.500	1
F 75 Cannizzaro, Tyler F 76 McGuire, Shaun F 77 Light, Chris		0 0 0	1 0	0 0 0	2 0 2	0 0 0	1.000 1.000	0 0	1 0 0	0 0 0	1 0	0 0	2 0	0.000 0.500	2 0 3	2 0 1	0.500 0.750	0 0 0	0 0 0	2.0 0.0 0.0	4 0 4	0.500 0.000	1 0

							Win	s		s		×		s Win	Dbls		Dbls age	ker Ws	ker Ls		Played	- Point e	s
	Singles	301	Singles	Cricket	Singles	Record	Singles Win %-age	Doubles	Cricket	Doubles	501	Doubles	Record	Doubles Win %-age	Sngls + Dbls	Record	Sngls + Dbls Win %-age	Tiebreaker Ws	l iebreaker Ls	All-Star Points	Games Played	All-Star Point Average	Matches Played
G1/ Wayne Gretzky	0	0	0	0	0	0		0	0	0	0	0	0	I I	0	0			0	0.0	0		
G 10 Wilson, Misty	0	0	0	0	0	0		0	0	0	0	0	0		0	0			0	0.0	0		0
G 11 Wilson, Jonathan	0	0	0	0	0	0		0	0	0	0	0	0		0	0			0	0.0	0		0
G 12 Gaines, Lauren	0	0	0	0	0	0		0	0	0	0	0	0		0	0			0	0.0	0		0
G 13 Gaines, Bryan G 14 Rigert, Joe, Sr.	0	0 0	0 0	0	0 0	0 0		0 0	0 0	0 0	0 0	0 0	0 0		0 0	0 0			0 0	0.0 0.0	0 0		0
G 15 Rigert, Joe, Jr.	0	0	0	0	0	0		0	0	0	0	0	0		0	0			0	0.0	0		0
G 16 Park, Jason	Ő	0	Ő	0	Õ	ů 0		Ő	Ő	0	0	Ő	0		0	ů 0			0	0.0	0		0
G 17 Park, Ed	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
G2/ De Ducks Part Deux	3	3	4	2	7	5	0.583	2	1	1	2	3	3	0.500	13	11	0.542		0	3.0	24	0.125	
G 20 Carawon, Bob	0	0	0	0	0	0		0	0	0	0	0	0		0	0			0	0.0	0		0
G 21 Peers, Martin G 22 Ellis, Tim	0	1 1	0 1	1 0	0 1	2	0.000 0.500	0	1 0	1 0	0	1 1	1 1	0.500 0.500	1 2	3 2	0.250 0.500		0 0	0.0 0.0	4 4	0.000 0.000	1
G 22 Enis, Thi G 23 Schoch, Adam	0	1	1	0	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500		0	2.0	4	0.000	1
G 24 Carawon, Harris	1	0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.750		0	0.0	4	0.000	1
G 25 Lalino, Steve	1	0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.750		0	1.0	4	0.250	1
G 26 Jeffries, Tom	1	0	0	1	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0	0	0.0	4	0.000	1
G3/ Irish Ton	2	4	4	2	6	6	0.500	1	2	3	0	4	2	0.667	14	10	0.583		0	6.0	24	0.250	
G 30 Cominole, Jeremy	0	1	1	0	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500		0	1.0	4	0.250	1
G 31 Bowser, Brian G 32 Logan, Pete	0 0	1 0	1 0	0	1 0	1 0	0.500	1 0	0 0	1 0	0 0	2 0	0 0	1.000	3 0	1 0	0.750	-	0 0	1.0 0.0	4 0	0.250	1 0
G 32 Logan, Pete G 33 Rossbach, Mark	1	0	1	0	2	0	1.000	1	0	1	0	2	0	1.000	4	0	1.000		0	0.0 1.0	4	0.250	1
G 34 Hiltbrunner, Sherry	0	1	0	1	0	2	0.000	0	1	1	0	1	1	0.500	1	3	0.250		0	0.0	4	0.000	1
G 35 Perkins, Heath	1	1	1	0	2	1	0.667	0	1	1	0	1	1	0.500	3	2	0.600	0	0	2.0	5	0.400	1
G 36 Perkins, Brytni	0	0	0	1	0	1	0.000	0	1	1	0	1	1	0.500	1	2	0.333		0	1.0	3	0.333	1
G 37 Yarsawick, Bryan	0	0	0	0	0	0		0	0	0	0	0	0		0	0			0	0.0	0		0
G4/ Old Darting Bastards G 40 Cornell, Blaine	2	4	3	3	5	7	0.417	2	1	0	3	2 0	4	0.333	9	15 3	0.375		0	14.0 0.0	24 4	0.583	1
G 40 Comen, Blane G 41 Barlow, Brian	0	1	1	0	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250		0	4.0	4	1.000	1
G 42 Barbour, Bryan	Ő	1	1	0	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500		0	1.0	4	0.250	1
G 43 Millius, Mike	0	0	0	1	0	1	0.000	1	0	0	1	1	1	0.500	1	2	0.333	0	0	1.5	3	0.500	1
G 44 Metivier, Sam	0	1	0	0	0	1	0.000	1	0	0	1	1	1	0.500	1	2	0.333		0	1.5	3	0.500	1
G 45 Musil, Dylan	0	0	0	0	0	0		0	0	0	0	0	0		0	0		-	0	0.0	0		0
G 46 Smith, Jon G 47 Ferdon, Jenny	0	0 0	0	0 0	0 2	0 0	1.000	0 1	0 0	0 0	0	0 1	0 1	0.500	0 3	0 1	 0.750		0 0	0.0 4.5	0 4	1.125	0
G 48 Ferdon, Matt	0	1	0	1	0	2	0.000	0	0	0	0	0	0	0.500	0	2	0.000		0	1.5	2	0.750	1
G 49 Johnson, Steve	Ő	0	Ő	0	Õ	0		0	0	0	0	Ő	0		0	0			0	0.0	0		0
G5/ I'm about to Ton!	4	2	3	3	7	5	0.583	1	2	3	0	4	2	0.667	15	9	0.625	0	0	9.5	24	0.396	
G 50 Theall, Ken	1	0	0	1	1	1	0.500	0	1	0	0	0	1	0.000	1	2	0.333	-	0	0.0	3	0.000	1
G 51 Gagner, Chris	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750		0	2.5	4	0.625	1
G 52 Zuttel, Paul G 53 Dehnel, Sebastian	1	0 0	0 1	1 0	1	1 0	0.500 1.000	0 1	1 0	1	0 0	1 2	1 0	0.500 1.000	2 4	2 0	0.500 1.000		0 0	0.0 3.5	4 4	0.000 0.875	1
G 54 Caldwell, Taylor	0	1	0	1	0	2	0.000	0	1	1	0	1	1	0.500	4	3	0.250		0	1.0	4	0.873	1
G 55 Little, Clint	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750		0	2.5	4	0.625	1
G 56 Hollingsworth, Glenn	0	0	0	0	0	0		0	0	0	0	0	0		0	0			0	0.0	0		0
G 57 Zuttel, Joe	0	0	0	0	0	0		0	0	1	0	1	0	1.000	1	0	1.000		0	0.0	1	0.000	1
G6/ Chalker's Nightmare	3	3	2	4	5	7	0.417	1	2	2	1	3	3	0.500	11	13	0.458		0	5.0	24	0.208	1
G 60 Moulden, Jeremy G 61 Ball, Pat	0	1 1	0	0 0	0 1	1 1	0.000 0.500	0 0	1 0	0 1	1 0	0 1	2 0	0.000 1.000	0 2	3 1	0.000 0.667	-	0 0	1.0 1.0	3 3	0.333 0.333	1
G 62 Boutieller, Tina	1	0	0	1	1	1	0.500	0	0	1	0	1	0	1.000	2	1	0.667		0	0.0	3	0.333	1
G 63 Boutieller, Nick	1	0	0	1	1	1	0.500	1	0	0	0	1	0	1.000	2	1	0.667		0	0.0	3	0.000	1
G 64 Berman, Brian	0	0	0	1	0	1	0.000	0	1	0	0	0	1	0.000	0	2	0.000		0	0.0	2	0.000	1
G 65 Coogan, Beth	1	0	0	0	1	0	1.000	0	1	1	0	1	1	0.500	2	1	0.667		0	1.0	3	0.333	1
G 66 Tompkins, Charles	0	0	0	1	0	1 1	0.000	1	0 1	1	0	2	0	1.000	2	1	0.667		0	2.0	3	0.667	1
G 67 Brownd, Anthony G 68 (paid - but unfilled)	0	1 0	1 0	0 0	1 0	1	0.500	0 0	1 0	0 0	1 0	0 0	2 0	0.000	1 0	3 0	0.250		0 0	0.0 0.0	4 0	0.000	0
G7/ Just A Bit Outside	4	2	2	4	6	6	0.500	2	1	0	3	2	4	0.333	10	14	0.417		0	6.0	24	0.250	0
G 70 Budd, Shawn	1	0	1	0	2	0	1.000	0	0	0	1	0	1	0.000	2	1	0.667		0	1.0	3	0.333	1
G 71 Additon, Chris	0	0	0	1	0	1	0.000	0	1	0	1	0	2	0.000	0	3	0.000		0	0.0	3	0.000	1
G 72 Budd, Jen	0	1	0	0	0	1	0.000	0	0	0	1	0	1	0.000	0	2	0.000	-	0	0.0	2	0.000	1
G 73 Cook, Dan	0	0	0	1	0	1	0.000	1	0	0	0	1	0	1.000	1	1	0.500		0	1.0	2	0.500	1
G 74 Heath, John G 75 King, Richard	1 0	0 0	1 0	0 1	2 0	0 1	$1.000 \\ 0.000$	1 0	0 0	0 0	0	1 0	0 1	1.000 0.000	3 0	0 2	1.000 0.000		0 0	2.0 1.0	3 2	0.667 0.500	1
G 76 Pender, Aime	0	0	0	0	0	0	0.000	0	0	0	0	0	0	0.000	0	0	0.000		0	0.0	0	0.300	0
G 77 Updyke, Jerry	1	0	0	0	1	0	1.000	1	0	0	1	1	1	0.500	2	1	0.667		0	0.0	3	0.000	1
G 78 Whitley, Brian	1	0	0	1	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	0	1.0	4	0.250	1
G 79 Wrenn, Cameron	0	1	0	0	0	1	0.000	0	1	0	0	0	1	0.000	0	2	0.000	0	0	0.0	2	0.000	1

	r		r –				r								1			10		,			
							я				ľ			'n	ls		Sngls + Dbls Win %-age	Fiebreaker Ws	Tiebreaker Ls		Games Played	All-Star Point Average	
							Singles Win %-age	s		s	ł	50		Doubles Win %-age	Sngls + Dbls		Db age	ker	ker		Pla	e Pc	s
	les		les	ket	les	ord	lles ge	ble	ket	ble	ł	ble	ord	ble: ge	+ *	ord	*s +	rea	rea	Star ts	les	Star	che
	Singles	301	Singles	Cricket	Singles	Record	Singles %-age	Doubles	Cricket	Doubles	501	Doubles	Record	Double %-age	lgn	Record	Ving]	lieb	lieb	All-Star Points	jan	All-Star F Average	Matches Played
H1/ Dart Buddies	3	<u>m</u>	2	4	5	7	0.417	0	3		2		5	0.167	7	17	0.292	<u>Н</u>	<u>Г</u>	₹, <u>р.</u> 8.0	24	0.333	
H 10 Kincaid, Lisa	0	0	0	0	0	0		0	0	0	0	0	0		0	0	0.292	0	0	0.0	0		0
H 11 Watson, Ruth	1	0	0	0	1	0	1.000	0	1	0	1	0	2	0.000	1	2	0.333	0	0	0.0	3	0.000	1
H 12 Watson, Jeff, Sr.	0	1	1	0	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0	0	1.0	4	0.250	1
H 13 Watson, Emily	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	1.0	4	0.250	1
H 14 Massengill, Devin	0	1	0	1	0	2	0.000	0	1	0	0	0	1	0.000	0	3	0.000	0	0	1.0	3	0.333	1
H 15 Gower, Jeremy	0	1	0	1	0	2	0.000	0	0	0	1	0	1	0.000	0	3	0.000	0	0	1.0	3	0.333	1
H 16 Franklin, Samantha	0	0	1	0	1	0	1.000	0	1	1	0	1	1	0.500	2	1	0.667	0	0	1.5	3	0.500	1
H 17 Young, Mike	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	2.5	4	0.625	1
H2/ Ballistic Behavior	3	3	1	5	4	8	0.333	0	3	0	3	0	6	0.000	4	20	0.167	0	0	4.5	24	0.188	
H 20 Phillips, Britt	0	1	1	0	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	0.0	4	0.000	1
H 21 Phillips, Josh	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	3.5	4	0.875	1
H 22 Hayward, Simon	0	1	0	1	0	2	0.000	0	1	0	1	0	2	0.000	0	4	0.000	0	0	0.0	4	0.000	1
H 23 Hayward, Georgia	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	0.0	4	0.000	1
H 24 Letsch, Dempsey	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	0.0	4	0.000	1
H 25 Archibald, Bobby	0	1	0	1	0	2	0.000	0	1	0	1	0	2	0.000	0	4	0.000	0	0	1.0	4	0.250	1
H 26 (paid - but unfilled)	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
H3/ Brown's Bombers	3	3	5	1	8	4	0.667	3	0	3	0	6	0	1.000	20	4	0.833	0	0	3.5	24	0.146	1
H 30 Suan, John H 31 Davis, Luke	0	0 1	0	1 0	0 1	1 1	0.000 0.500	1	0 0	1	0 0	2	0 0	1.000 1.000	2	1 1	0.667	0	0 0	0.0	3 3	0.000	1
H 31 Davis, Luke H 32 Casey, Kevin	0	1	1	0	1 2	1	0.500	1	0	0	0	1 2	0	1.000	2 4	1 0	0.667 1.000	0 0	0	1.0 0.0	3 4	0.333 0.000	1
H 32 Casey, Kevin H 33 Murphy, James	1	0	1	0	2	0	1.000	1	0	1	0	2	0	1.000	4	0	1.000	0	0	0.0	4	0.000	1
H 34 Murphy, Michelle	1	0	0	0	1	0	1.000	0	0	1	0	1	0	1.000	2	0	1.000	0	0	0.0	2	0.000	1
H 35 Strickland, Andrew "AJ"	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	0.0	4	0.000	1
H 36 Shirey, Anthony	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	2.5	4	0.625	1
H 37 Hawk, Julie	Ő	0	0	Ő	0	0		0	0	0	0	0	Õ		0	0		0	0	0.0	0		0
H4/ All About That Bull!	3	3	4	2	7	5	0.583	3	0	2	1	5	1	0.833	17	7	0.708	0	0	12.5	24	0.521	
H 40 Voorhees, Cindy	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	2.5	4	0.625	1
H 41 Shepard, Missy	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	2.5	4	0.625	1
H 42 Holmes, Joseph	0	1	1	0	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	0	2.5	4	0.625	1
H 43 Miller, Lloyd	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	1.5	4	0.375	1
H 44 Peterson, Eric	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
H 45 Tyler, Rob	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
H 46 Gould, Craig	1	0	1	0	2	0	1.000	1	0	1	0	2	0	1.000	4	0	1.000	0	0	1.0	4	0.250	1
H 47 Gorts, Tim	0	1	1	0	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	0	2.5	4	0.625	1
H5/ Chalk It Up	2	4	3	3	5	7	0.417	1	2	3	0	4	2	0.667	13	11	0.542	0	0	8.0	24	0.333	
H 50 McNamara, Ken	0	0	0	1	0	1	0.000	0	1	1	0	1	1	0.500	1	2	0.333	0	0	1.5	3	0.500	1
H 51 Coggins, Leigh	0	1	0	0	0	1	0.000	0	0	1	0	1	0	1.000	1	1	0.500	0	0	0.0	2	0.000	1
H 52 Morlando, Jim	0	1	0	0	0	1	0.000	0	1	1	0 0	1	1 0	0.500	1	2	0.333	0	0	0.0	3 2	0.000	1
H 53 Crawford, Neal H 54 Prater, Brittani	1	0 0	1	1	1	1	0.500 1.000	0	0 0	0	0	0	•	1.000	1 3	-	0.500 1.000	0	0 0	1.0 0.0		0.500 0.000	1
H 54 Prater, Brittani H 55 Zarrelli, Karen	0	0	0	0 0	2 0	0 0		0	1	0	0	1	0 1	0.500	1	0 1	0.500	0 0	0	0.0	3 2	0.000	1
H 55 Zaffelli, Kafell H 56 McDole, James	0	1	1	0	1	1	0.500	0	1	0	0	0	1	0.000	1	2	0.300	0	0	2.0	23	0.000	1
H 50 Thompson, Barry, Jr.	0	0	0	1	0	1	0.000	1	0	1	0	2	0	1.000	2	1	0.667	0	0	0.0	3	0.007	1
H 58 Uvino, Chris	0	1	1	0	1	1	0.500	0	0	1	0	1	0	1.000	2	1	0.667	0	0	3.5	3	1.167	1
H6/ Tips & Shafts	4	2	3	3	7	5	0.583	2	1	0	3	2	4	0.333	11	13	0.458	0	0	4.5	24	0.188	
H 60 Borgna, Denise	1	0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.750	0	0	0.0	4	0.000	1
H 61 Borgna, Andrew	1	0	0	1	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	0	0.0	4	0.000	1
H 62 Spencer, Kenny	1	0	1	0	2	0	1.000	0	1	0	1	0	2	0.000	2	2	0.500	0	0	2.5	4	0.625	1
H 63 Thaxter, Norm	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
H 64 Garner, Annette	0	1	0	1	0	2	0.000	1	0	0	1	1	1	0.500	1	3	0.250	0	0	0.0	4	0.000	1
H 65 Huffman, Inky	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	0.0	4	0.000	1
H 66 Annon, Harry	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
H 67 Crowe, Jason	0	1	1	0	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	0	2.0	4	0.500	1
H7/ Eazy Duzit	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		<u> </u>
H 70 Hall, Michael	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
H 71 Harris, Layne	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
H 72 Polites, Tommy	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
H 73 Iessi, Austin	0	0 0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
H 74 Pate, Bradley H 75 Haithcock, Lee	00	0	00	0 0	0 0	0 0		0 0	0 0	00	0 0	0 0	0 0		0	0 0		0 0	0 0	0.0 0.0	0 0		0
H 75 Halthcock, Lee H 76 Lichty, Ben					0	0		0	0				-					0	0				
	0	0																					
H 77 Welsh, David	0	0 0	0	0 0	0	0		0	0	0	0 0	0 0	0 0		0	0 0		0	0	0.0 0.0	0 0		0